REXCHIP %5

SINCE GERMANY fEETZ, RFEIK

REXCHIP i 5

= w g == =

EMisREERIRA A

TAIZHOU REXCHIP MECHANICAL AND ELECTRICAL CO.,LTD.

Mublk: #7iTE =N iR S h RR PSRRI S BE 28 R

Address: #28 Chuangye Road, Songmen Town,
Wenling, Taizhou city, Zhejiang, China.

&=k Tel: 0086-0576-89975768 - w g = JNS] ro--------~n
{81 Fax: 0086-0576-89975769 Emﬁfﬂﬁﬁaﬁm zal . BA S |
#a4k . https://www.rexchipblower.com E;‘gfﬁﬂaﬁmﬁﬁmﬁﬂ ! L

Ei4f: info@rexchipblower.com Taizhou REXCHIP Mechanical and Electrical Co, Ltd. & — — — — — — — — — 4




COMPANY INFORMATION
AR5

ENmAREERAAZE—RAGETNMER, KAR, &5 £EVNSRE—BEHAERKUGELERE. BATEREAR. WARR. RBEEEROM. EEMME,
HEGEFHHHORMNEZNELEE. ANTEHMARFNRESHEN, BHRAERKENHESN, BSRRPEEBITROLRE.

AR EEY SRR TERERRBE, SEMBRKEEEEN FRERMAEN . ERFHEHRBEERGE NEEEBRAE, AR RiE DS EIEEEAMTmA
ERRLWE, BEWMA, REW—, FUEFERE, BHIENEENNEEL, BHLE. AMELESHE, HE%EE 1SO-9001 EREREEIERAN. 1SO14001
RIEEERAR,

BETHI—EREMRSRETEENZ —, ZMBREEFEENURABRRMBFNINKER, BEQARIFARZBHER, RE "TEBME, HRFHRE" HEY,
EMHETETEI, $ERSETIEFTERE,

“EPRRRMEEMMIER” , BRTEENRHFEENRSBTEIHLEAIERPAIRITHSBIES , LANE2,

TAIZHOU REXCHIP MECHANICAL AND ELECTRICAL CO.,LTD. is a modern integrated enterprise locates in Taizhou China, with independent intellectual property rights, which intergrates
its development, design and manufacture into a whole. Company covers 10,000 square meters with three manufacturing buildings. Committed to ring blower, side channel blower design,
production & sales.

To produce the world' s most top products is our purpose. The product is adopted the fluid machine techniques imported from Germany, molded with. Aluminum alloy, processed on precision
CNC machine, make it more reliable & durable. With outstanding performance and excellent quality and superior cost efficiency, the products sell well throughout the country, and are exported
to West Urope & North America.

Staff training has always been one of the priorities, Holds"continued beyond the times”, improve the quality of all staff.

"Customer demand is our pursuit”", We sincerely welcome friends from various circles at home and abroad come to visit. Meanwhile, we await for you to co-create the brilliant.

PETTILLL
aup="

amn®*

--""-‘"’

i

.........

JTAs T A

Credit, innovation, achieve

A . |, $

Rigorous, unity, dedicationﬁres

Qixl'llp TNER METZ M &% GERMANCRAFTSMANSHIP SERVING THE WORLD

S




P RODUCTION ENVIRONMENT
S ERIR

SR, UEIESERAEN

EEHA+ MERRETRT, REMBHTR 4.0 R, 58
EEEERE. FRUBTEBRNSULTEER, 258t
FETERML, TRL, FRUBKAHBEARE, RETM
HIETWRFAR, =B RBIRERTATRE .

A brand new mode: to take the lead with Chi-
made products

In the Intemet + background, takes the lead in carrying out the industry 4.0
strategy. We introduced advanced production equipment, specialized
technical team and efficient management team. Thus, we gradually
performed the intelligent, industrial and information upgrading, and
finally realized manufacturing transformation and upgrading, which
enhances our innovation ability and competitiveness.




C ERTIFICATE

EE

mrenrREl . 5 wwema 9

i B E Wt E

NS (RS 7}
pirpetogpion r—
e WA - SARMI SURAR: SR (B (M

R P ]
A L T A L LA A N

HERAM xopoiEl FRME *econh

‘? x @ RENR

ﬁmwnmauul{-man)
B FRRETURL AR RSTAR R B 1 e
!lﬂ“!nmlﬂl-h YRS (R

# B A SRRBRLIRED

BRI l"!-“ T I, RIS

HERERM v eE R ME xerninn

" ['f’?_‘ﬁ;; BERR

e

R G RO EAE B

W OERGHSMELS
& E W

G MBRLAARA R
[ Tt e

AINCAIGOSEEANT  REE 317500

M RRAER N

GH/TI9001-2016/1509001: 2015 §E

. wm &

mnnmmwmmm—a
TARZHOU REXCHIP MECHANICAL ARD

Quality Management System Complies With:
GRT12001-2016/150%001:2015 Standard

CERTIFICATE OF CONFORMITY OF QUALITY

! AND ELECTRICAL CO.LTD.
A Changye Koad, mt&m Tairkou City, Zhejiang
Unified Social Credit Code: 1131 IT  Pest Code: 317500

Certificate of Compliance

Mo 201509 TRAILA4
Bcrricas Eovumacon fhe . Sl LS 1 43 £8

Beckical Co. Lid,
o Wy

Product: Fing Bicwir
Maxdelfs): ASICHIE, HEI0H0E, BEIOHIE BRI,
TAIICH08, TN, DX, FAICH.
fare v Do

Verificalion to: Standard:
EN S0004-1 20 MYAC2010

it 13 CE Cinestveti]:
XY e romagrete

E— ey

n o meminy _:‘P
S B R E A

BRI TR PEA
CRCRAE T

LT TR
VHe W, e A
YW R A MRS

HRCR AL E e W

AR P AN TS A, LSS . )
L Arati,

LSRR, R FATAE, L AR HALEE A
T P R e ey
HinGA BRA P EA L ERRL,

AL LT A AL § .

28, e

SR T

s i

FETT T
¥
|

B WL HE S

W R AR RATECES RN
BOW A RS RN
"MW TLT R

T H W R

PRI PO

L] e 317500 WL S AONE R FRE L LR
. AL S A IR A
R B E 2 1 Ao LR W O i B

D T A LS Ry
SEPEREALSAR, ¥R AR AL,
BAHM AR AL, AL, i AR LR T
e T EE R B Prrrer ey
WA EREE DL
R HAREH AR HARRD, .Q- FOREFRTE T8
58 mH.

B W HEKURCILILE S RN
B W A REEEAS

€ M homomT ) wTenT

PO TR e

LR Tt P

EY 621130 BB UABBAEN AR LT LR
LRI RLTTt L EE T PET
LT m-\uumﬂ LR B O Do b

SRS

Y
-
tp

"W R E B

EME LA SARA SRR R, TR, L

FatMEeRitare HakbRLes
ArE pea

ERam

BEmm.
e

e L T LA S ST T
len.multﬁ . R EEFACAASHELR L,

m. 201 S0905ID

B R F AR
ot e e kil

apny, s
SRR R,

S o R T
u m smfega2
0 om seif. of 22

FaEE ZEBsasn

mess, TE-i:

L L LT

fray, WRAEMASEES

wagn, UFOAREERSH

S EH RSB
EENEDMAE

AR T
T TETT TS

x ..ﬁ%- 2.5 22
. w  X|iEE o . _sur0£22
o 0 B e efhai

srene, PHMBRESHEA e

fran, FANEREREDA

Waag, VHRSREIREE

)

7= & A IE B,

= » BiEAIE

AL OEIAI TN LRI
T mEwe | w C—

o

- - iw || ¥

] - S T 0

EX - N YT o I

- > | anw | o | w | ¥

== = I T N (T
T ™ | anu | o | u | &

P T T TR

e 1

o B B 3 A AE ooy
R

7= & AEIE #
ELL R o k]

#ianan
P
ATSLRAKIATARANRLE. nasR HerTALITES

LA R T R, LA,
o e

[ & R E
LI

«© DIETHEE

© QIETHE




CONTENTS
B%

P03/07

Po8/12

P13/16

P17/20

P21/24

P25/28

P29/32

RIERMITIERE

Gas ring pump working principle

REURHEREAMIS R

Gas ring pump structure and decomposition

RIEMM TR ES

Product features and advantages

AERRUSERMR

Product selection of reference and schedule

2HB-1AC RIERSH . miiE, R~
2HB -1AC series product selection
parameters, curve, size

2HB2-3AC R7iEHIS8 . i, R

2HB2 -3AC series product selection parameters,
curve, size

2HB3-3AC R7i#EHL8 . i, R

2HB3-3AC series product selection parameters,
curve, size

2HB4-3AC R7iEHIS8 . i, R

2HB4 -3AC series product selection parameters,
curve, size

2HB5-3AC R7iEHISE . i, R

2HB5-3AC series product selection parameters,
curve, size

P33/36

P37/42

P43/48

P49/54

P55/66

P67/68

P69/72

P73/74

P75/76

P77/80

2HB6-3AC R7IEA 28, i, R~

2HB6-3AC series product selection parameters.
curve, size

2HB7-3AC RFIERI S8, miE, R~

2HB7-3AC series product selection parameters,
curve, size

2HB8-3AC AR L, &, R~
2PB8-3AC series product selection parameters,
curve, size

2HB9-3AC RIER S8, HiE., R~

2PB9 -3AC series product selection parameters,
curve, size

3HB-3AC RFiER &%, ik, R+

3HB-3AC series product selection parameters,
curve, size

4HB-1AC RIRBEIS ), #iis, R~

4HB-1AC series product selection parameters,
curve, size

4HB-3AC RIEBEISE, #iiE, R~

4HB-3AC series product selection parameters,
curve, size

4HB RIERI S8, i, R~

4HB series product selection parameters, curve, size

Bt 4

Accessories display

RRITHERG

Industry application case

RECHIP 5

NEW FUTURE VISION




Rt MW, |17l |

OPERATING PRINCIPLE
RIRRIIERE

REREMERRERERRET L, EX2REBRE
Mo HBTREMREERERI, FFURMETEERKHEE
T, thREMEREMAIR X TIETE M,

{8)i®;E Side Channel

# Impeller SEmmE T 1R, BEENEE 2 M,
8 3 ZEAEH A A — R R IR L B0
51513k LI 7 4,
BB AERAOEST, ST, AR E S
iﬁgg at’;'l‘; B i — . B RE A R, SRR

FF@EIBH OREEE 4 HEHRE,

The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximum operational reliability, even
at high differential is ensured by the arrangement of the bearings outside the compression chamber.

The gas it taken in though the inlet1.As it enters the side channel 2,the rotating impeller 3 imparts velocity to the gas in the direction of rotation.
centrifugal force in the impeller blades accelerates the gas outward and the pressure increase .Every rotation adds kinetic energy.

Resulting in the further increase of the pressure along the side channel .The side channel narrow at the rotor,sweeping the gas off the impeller
blades and discharging it though the outlet silencer 4 where it exits the side channel blower.

Vacuum PUMP CHART
RIRRANGRE

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

WIR EBEE Wi A WK EHE w9 WA
| 001 - 3RZ pump cover 011 | IREE base | 021  #p washer - 005-2  #R&T screw
| 002 BE#R impeller 012 | 4347 screw 022 - circlip 010-1  HE#IE mesh enclosure
1003 Zfi# pump casing 013 | §F/BHR pressure—plate | 023 - O BIEHE o-ring - 010-2  i{&#AR soundproof sponge
004 EHEFF rotator 014 7% screw 024 B3 hand ring 010-3 24T screw
'_ 005  FE#E motor 015 [ 7E JEE fixing base 025 fhA e 48 B wrap ring 0111 4247 screw
006 T £ 2 motor cover 016 B feltring 001-1 9247 screw 011-2  #24T screw
007 E fan 017 i oil seal | 001-2 | #B4T screw | 012-1  E$EME lock washer
| 008 A& fan cover 018 B screw - 004-1 i flat key
1009  FRPBAXE paper pad 019 | iiR# K ware washer | 004-2 T flat key |
010 H& & Muffle Tube 1020 jhE oil seal - 005-1 | R4 screw



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l I AND ELECTRICAL CO., LTD.
° i .. ENERHETRAT

A bvanTAGES THE PERFORMANCE ADVANTAGES
FERS HRERS

o R TE, REANE, HMT TIEREM

- : : . 100% #&iH, KB, IANRRATROBHEIIR IP55 BIBhEER, FRES
Improvement of traditional crafts, bearing front, increased stability

&48 (50/60HZ ) RREEREmEL TR LAAMENERER, BMANMERE, RAZRSHITERE, RS TETAEENERSS
SIESIERRB TS, LA ETHEINEERATINIREE 300% , EHEREBNBHNZHEXRDREBRERREPHENEL
ww. ek ABEEENE, REWMA, KRER, RAERE. BAEOHBERAMTIUIR, REBERRE, RRRECIENEREE
ERCBREEN. ERERAEMAER, XA PROE. UG . CAD £Ei#H B st 4 FES R EER

o XAMMEORH, ERIERASH
Using some of the imported parts, lengthen service life

® 100% oil free compressed gas, water ring vacuum pump, motor, all are the protection class IP55, class F insulation
o WA E ABERSES— N EERRE, B4 MIEDYEIMIRERR, ® Dual frequency (50/60HZ) and wide voltage can meet almost all regions of the world the voltage level, the external design of the bearing,

RERENEERTE can bear high working temperature, improves the reliability and service life
The shell adopts the high quality aluminum alloy one-time die—casting molding, machining parts

] ) . - ® The introduction of variable frequency drive new concept, than the maximum performance can be driven by a common motor is improved
Completed in the cutting process, ensure the accuracy improvement of traditional technology

to 300%, impeller and pump body seal forms the unique reduced pressure gas pressure loss in the process of compression
® Pump casing, impeller die—casting molding, sturdiness and durability, excellent heat dissipation, imported Japan Germany, precision

machine tool cutting, ensure the accuracy and quality, air pump through the surface of protective paint processin
o R MEHORISHE ERE, SRR T A L A SRS 20% ' e i Asns s el sl i kol Sl e S

The design of the impeller through the accurate calculation of argumentation, the performance under the same power ratio
Similar products increased by 20% computer aided design software and motion

® Products through the strict mechanical, electrical performance test, simulation demonstrate the use of PROE, UG, CAD and other



TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

SPECIFICATIONS COMPLETE, FAMOUS ALL OVER THE WORLD FLEXIBLE INSTALLATION

HEES FELK EEHREANX

® X100 ZTEHWEMRBRAMEEZEERERANER, RARERESE (50/60HZ ) B, PHEER IPS5(E5ER F R ), EiHFHIEMBT, o BEREMEEELE, REFEMRE, EEKRERETZEEERNZEER
AT ER R EREEST R, HFHEREZEEEMN. PR, HEl, HRESHEERESNRERNTE, RMAMEEENERTERRE S e Can be mounted in any direction, without any restrictions, which means that reduces the space requirements and installation costs
HEK,

e As many as 100 kinds of products can meet your specific application of various requirements, with wide voltage frequency (50/60HZ) motor, TOTAL QUALITY MANAGEMEN
protection class IP55 (class F insulation), anywhere in the world, can be applied to wind morale ring vacuum pump. whatever in Europe, Middle Q’ﬁﬂ‘]ﬁi%ﬂ

East, Southeast Asia, can be delivered in a very short period of time, our volume inventory of products can meet your needs.
® 1RiE 1ISO9001:2000 WIREE, mREEBLARLEEBNEANEMEE—, KEVRET. MR, £E. FTERBEURBERNERT R, ’M
BRREMBREETFN. BEREAERSBEAPNRGRE, hRREERNENESNTERNEETHNSEEREATS. RTRIEERD

VARIABLE FREQUENCY DRIVE ENERGY EFFICIENCY BEE, REMNRFIHE, RERECELTHATEEBLAERERGNTENEERERR. EAEERFRGFSHMANRELNE,
BIREE) =M EhAE FHiBIB 1S09001 322, WELHRMYER, FEHHID OEM, ODM £E 4IRS, $HHEPHERERMNS AN REOFER.
o HARMIIZHIME L ERRE—AEAR, AFARNREREZR. BEEATIEHENRREEES REBORE. B2 0 THROEH RikH e According to the standard of 1SO9001:2000, wind, always put the quality and customer satisfaction in the first place, from the initial
BRI EEREREE S, WMBERIEIMNMIEEEE, E2GETEBAAXKBIRK,. design, development, production, order processing and subsequent customer support, we will always provide you the best service, system
throughout the product cycle. Technology progress and market success of wind and products with its high quality is inseparable. In order to
e Directly when installing a variable frequency motor or the control cabinet, the gas ring vacuum pump, compressor of the same type can handle guarantee the high quality of products, from product design to delivery, wind, have been established for the reliable quality of each link of

supervision to ensure production system. The quality assurance system in conformity with the agreed standards, and through the 1ISO9001
certification, to meet the requirements of the world. Also welcome OEM, ODM set product development, new product usage requirements
and situations develop satisfactory.

more traffic in energy saving at the same time. This is because always precise control system to provide accurate power you need, so as to
prevent additional gas consumption, the system running cost greatly reduced.



. - 8| TAIZHOU REXCHIP MECHANICAL
REXCHIP 55 AND ELECTRICAL CO., LTD.
- i : ENEREEARAT

e How To SELECT MODEL

B E hn{] 3Ry

o RKMETEMA 4HB RIRE T REEE L SIE 1,000mbar gEE BEESTHEAMYREXBGE, SLBh, gtELBEEENEER o I RMERIBRGMLRISE. 257 /REXCHIP air pump selection which models, parameters ?
FELFEMA AHBEETEEREK, BEES, MEFSEE, RE, RTHHRRS, HEBESLERN, BN 4HB BEEESZINEETER, ® N{ms H M EE R ITELRYZEM? /How to select the most matching performance products ?

HMp TEMAREEMEETHE NV ERMNERE[EMRSR, HB RRATREENSHAEENFH TEMATIE 20, 000 /M,

e Our revolutionary 4HB gas ring vacuum pumps can generate up to 1000mbar of differential pressure —— — far higher than any other of the gas
piston compressor. At present, the other system can produce pressure range than our 4HB volume larger, more noise, and easy to wear. Now, in
addition to having low noise, no wear etc. these advantages, our 4HB can also be used in more severe conditions. Our engineers and designers
are trying to make our products become more quiet. 4HB gas ring vacuum pump can work continuously for 20000 hours without downtime

maintenance conditions.




Rt O, 117l |

DEMONSTRATION OF THE TYPE

BISRAR A

o
[s)]

_—|I

I H6: =1#H three—phase A 220-240V /Y345-415V
H7: =#§ three-phase A 345-415V/Y600-720V

A1: E1H single-phase  220-240V

VO: E1H single-phase  115-230V

EBALF%)S  The motor sequence number

0: EFEZ % Any installation mode 3: FEH LI Vertical installation
1: B4 Single impeller 2: WAt4 Double impeller
3: BEGKIRE Single impeller Large flow 4: WEG K& Double impeller

5: =E§ Three impeller

FaFyS The product serial number

2HB: = JE X4 High blower

ABSOLUTE PRESSURE
HEEHER 7

o HHBHRUERAZT (£RBRTF ) REEMBIRAEME. AUEBRLSEEX

® Absolute pressure in vacuum (absolute pressure is zero) as the reference and the measured values obtained. So the pressure is
greater than the reference value

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
EMEREERRAE

G AUGE PRESSURE
FRE

* RERER THREXRENWAEE, AUREXRRELE, AEERISEERLEEEX
® Gauge pressure is that measurement is higher than the standard atmospheric pressure value. The standard atmosphere for reference, so

the actual measured value is larger than the reference value

VACUUM DEGREE HEZf

* ATERERTHREARBNRMEE, MEEENRFEARE, FFAEEIEEN

® The vacuum is that measurement is lower than standard atmospheric pressure value.Measurement benchmark is still the standard atmospheric
pressure, so the actualmeasured value

CONVERSION TABLE #&E3*

I/min 0.06 m®/h Pa 0.01 mbar
gal/min 0.227 m®h :g: 1‘6_% ﬁ::
ft%/min(cfm) 1.699 m%h mmH20 (mmAq) 0.098 mbar
m*h 16.667 [/min mH20 98.07 mbar
mh 4.403 gal/min inah#i20 2491 -
m%h 0.588 ft*/min(cfm) PSIIpdf/in2 68. 948 mbar

10



TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

REXCHIP 55

S ELECTION AND USE OF KNOWLEDGE
EBR AR

1. DIN VDE 0105 = IGC 364 &, F&EEAENFUEEERRBHT/E. 4. RAUFEE, ERBERTISHARER, REAETREEREHFEMEER, HEEGHE, HEKES, KRHGERENTR LERE

11

BERAR  RIEEEREZLATARENAS, MREEFENEI. &R, HEFEENMEREEEHFERENRTRERLENTE, RRER
BB B ERNBRHFRNLERBEEE. FLENEG M, ABHEANEGKERE,

DIN VDE 0105 or IGC 364 regulations, non qualified personnel shall not be engaged in electrical equipment work. Qualified personnel: refers to

the factory safety responsible person authorized personnel. According to their own training, experience, knowledge and ability related standards

on prevention of accidents to complete a necessary work, and to realize the potential The risk and take the necessary preventive measures.

It is necessary to life first aid knowledge, familiar with the life rescue equipment related.

EREMRMRIERAECTRELMBEIREZNHAGER, TEATREES—EARNRE, BERGEEAXBIRI, FIELIREFME

BIRREREE

ABERRIERFIRBILERR . AFELERE—T, MRRZERNFASY, NFHEMARESERD  FRELERNREBEIMM IR,
BrE M,

Came with the equipment operating instructions may not contain detailed information all of the factors related, in particular, can not

put every possible installation, are related to the operation and maintenance of way. The manual includes only can let the qualification Information
necessary for correct operation personnel of machines or equipment. Therefore, it is necessary to clarify, if lack of detailed parameters of products,
or related questions, please according to the type of equipment and processing code for this product, contact us

. fE. B E DIN EN 60 034/DIN IEC 34-1 1E#, 4% F,

Tolerance standard: motor meets the standard of DIN EN 60 034/DIN |IEC 34-1, insulation class F.

FRREEER. BRFEHHEMS, NEEFHSREREBEOEEMITRRE,

In the selection of attention when, according to the specific circumstances of the scene, is focused on the flow or pressure and other related
factors, choose the most suitable, cost—effective, the energy is saved. The use of pressure release valve, filter when necessary And other
auxiliary parts, in order to better play the performance of equipment and matching field.

 EBETREDEFRERBHEERD. BE, IIBRAEREM, THER/ BEEAX, BREBREFSER/ ek, RERERERS/

REBRHE O SR EREREER, BTR. B8, BEAREHER

Start up and ready to check the fastener without loosening, shed off 5 before the start, shell not deformation dislocation, intact / wiring,
power supply voltage, meet the requirement / shell grounding, installation of leakage protector / check the shift motors Ensure normal
operation should be smooth, vibration, noise, temperature rise were normal

CREREEEAER, MHERFREEX. KM, KINX. REREASELNVEERETRE, FUEHRESEEER

Pump during operation, such as noise, vibration, increase the abnormal increase of screaming, abnormal temperature rise should be cut off
the power supply immediately checked, troubleshooting to be re energized.

12



EMEREERRAE

S g
. : ' - TAIZHOU REXCHIP MECHANICAL
REXCI‘“P I ga I I MI| 1 AND ELECTRICAL CO., LTD.

2HB [ 1 AC SINGLE, DOUBLE IMPELLERGAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE ( IP55 50/60HZ ) 2HB [ 1 AC SINGLE, DOUBLE IMPELLERGAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE ( IP55 50/60HZ )
2HB /1AC (B, #4) RIRAZTRBSEM4ELBR (IP55 50/60HZ ) 2HB/1AC (EB., 24 ) FIRATREERMEEL B3R ( IP55 50/60HZ )

420 A31 o 50 1.5 220-240V 9 150 -260 260 66 8
60 1.75 220-240V 9.5 180 -300 290 69
50 0.12 220-240V 1.2 55 -60 60 46
2.2 220-240V 1 1 -2 2
910001 » 60 0.14 220-240V 1.1 68 -60 60 48 2 420 Ad1 @ i i) 8 =0 = = = 31
110 A0t & 50 0.20 220-240V 1.43 70 -100 100 48 7 60 2.55 220-240V 11 180 =310 300 69
60 0.23 220-240V 1.3 85 -110 120 50 430 A11 @ 50 0.85  220-240V 5.2 180 -100 | 110 64 16
210 A01 = g g-gg g&gﬁgﬂ gz gg -113 | lg gg 9 60 0.95 220-240V 5.8 210 -100 110 66
210 A11 ) 50 0.4 220-240V 27 80 -120 130 53 11 430 A21 % %0 '8 220-240V 78 180 180 140 o4 g g
60 0.5 220-240V 3.0 96 -150 160 56 60 1.5 220-240V 8.3 210 -140 130 66
50 0.7 220-240V 4.5 88 -210 240 55 50 0.85 220-240V 5 210 -160 160 64
220 A11 @ 50 0.83 200-240V 56 103 —250 _ 250 61 & 18 80! . 60 0.95 220-240V 5.8 255 -145 140 70 =
230 A11 = 50 0.4 220-240V 2.7 100 -110 110 54 11 . . : .
60 0.5 220-240V 3.0 120 -130 140 57 510 A11 B 50 1.3 220-240V 7.3 210 -170 170 64 20
310 AO1 = 50 0.55 220-240V 3.7 100 -120 130 55 13 60 1.5 220-240V 8.3 255 -150 140 70
60 0.62 220-240V 4.5 120 -120 130 57
1. 220-240V 21 -2 1
310 A11 = 50 0.7 220-240V 4.8 100 -150 150 55 14 510 A21 -1 20 ° il - g oo il s 24
60 08 220-240V 4.1 120 150 160 57 60 1.75 220-240V 10 255 -220 210 70
50 1.3 220-240V 7.3 120 -240 | 280 58 50 2.2 220-240V 10 210 -220 270 64
%20 AST i 60 1.5 220-240V 8.3 145 =230 260 60 v 22 e * 60 255  220-240V 11 255 260 ' 290 70 =8
50 0.7 220-240V 4.8 145 -100 100 58 :
O » 60 0.8 220-240V 41 165 ~110 100 60 b 530 A21 & 50 1.5 220-240V 9 270 -150 140 65 28
410 AO1 = 50 0.7 220-240V 4.5 145 -120 120 63 15 60 1.75 220-240V 10 330 -120 110 71
60 0.83 220-240V 5.6 175 -130 | 130 64 610 A11 = 50 2.2 220-240V 10 270 -230 250 64 30
410 A1 = 50 0.85 220-240V 5.0 145 -160 160 63 16 60 255  220-240V 11 315 -250 | 270 70
60 0.95 220-240V 5.8 175 -160 160 64 710 A11 = 50 2.2 220-240V 12 318 -190 190 72 30
410 A21 = 50 1.3 220-240V 7.3 145 -170 200 63 17 60 2.55 220-240V 12.8 376 -190 200 74
60 1.5 220-240V 7.8 175 -210 220 64
50 1.3 220-240V 7.5 150 -255 255 66
420 Ael b 60 15 220-240V 8 180 ~290 280 69 25

13 14



REXCHIP 55

el

|

2HBIVACUUMCOMPRESSION TYPE CURVE
BTSRRI AL 1AC

Vacuum Selection diagram 50 Hz-- EFiEREx

50 Hz Compressor Selection Diagram 50 Hz-- #4528 [E R 50 Hz

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

2HBIVACUUMCOMPRESSION TYPE CURVE
BTSRRI AL 1AC

Vacuum Selection diagram 50 Hz-- B % i#8I[E3R 50 Hz

Compressor Selection Diagram 50 Hz—- ER4EiERI[E X 50 Hz

I S B [ o 250
5 300 300 2“ 200 200
< 250 e~ T I O 250 s 150 2HBA.-20 _g_HRA.DO
Fi‘ 200 Q%R LT TTTTTTTT] 200 Ig 100 | . S S — 1.4 | .-"2‘6"'—.#5*',‘841 = E&ﬁ—‘- 199
§ 150 - :E::’TNQHB& EEEEEE 150 : so |15 //-——-'ﬁﬁ‘::;f B30 2HB23; T B T g | '@
-\‘ " " i - " " - I v . - - . . . , . - " " " . - R - . r + 4 1
el SO0 | Bl | G 100 £ 77 S | os=id 04— g 0 iy \?13 50
g 50 1 Q07 L a0 50 @ 0 | 0
3 0 TR o 0 300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
| .
300 250 200 150 100 50 0 50 100 150 200 250 300 mbar Vacuum( £-% §i /£ ) Total pressure difference A p/ BEZEA p Vacuum( &% / iEJE )
Vacuum( 5% i /% ) Total pressure difference /A p/ BEZE A p Vacuum( &4 / .I:E-E.P) il
Vacuum Selection diagram 60 Hz-- E % %8I [E 3% 60 Hz Compressor Selection Diagram 60 Hz-- FR4E % Vacuum Selection diagram 60 Hz-- A S iEEI[E 3R 60 Hz Compressor Selection Diagram 60 Hz-- EE45i% %! [E X 60 Hz
400 e 4n90
mh . . I I O O o 50— T T T T T T T T T T T T T T T
T 350 +—+——+—+—— -+ | 2\_\31 | QHB?"[ 0 350 T = 2n15f9
® 800 R %ﬂ —uEEEEEEEEEEEE 300 3 ) e e e o o B 2 & - 2HB420 200
LA A — """‘-\
%s? 250 / /g‘;\@_@_@o- ‘% 250 > 150 l ] AN S S [ N N S — — __.i:‘—B"ZT——.‘/E] 20 | —-\‘-\ DHB‘;_’O I e 150
S 200 I // T D 30 %“‘- 585 200 g 1.75 | T ______,?'_ o~ 2HB320 """"'"—--—-._.______________H 1.75
& 255 1.3 1'.75'-'/ - Q\W 2H833 — : \0 8 100 e 3 jﬂzag_/ T M | O 100
- e e Niss=ts - ARRARARR aah %0 F TR T
£ 100 T R il I My e TP 100 g & 05
g | | || 2.I55 I | [ | ]] | . (LT L | sl | | || L] 7 0 | 1 1 i 1 1 L 1 1 — 1 1 1 1 1 1 1 | 1 1 | | 1 1 1 | L 1 1 | 1 | 1 | | 0
52 NS ] 20 300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
300 250 200 150 100 50 0 50 200 250 300 mbar Vacuum( £ 5 /& ) Total pressure difference A p/ BEZE A p Vacuum( 43 / ﬁza
Vacuum( L% i /% ) Total pressure difference A p/ BIEZE A p Vacuum( &4 / EJ% )

==

-

15 16



AND ELECTRICAL CO., LTD.

' | TAIZHOU REXCHIP MECHANICAL
‘ ENMERRERRAA

REXCHIP ' | | _

2HBZ /3AC SINGLE, DOUBLE IMPELLERGAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE ( IP55 50/60HZ ) 2HBZIVACU UMCOMPRESSION TYPE CURVE
oo mm iy 3
2HB/3AC (E. #4% ) RIRATRER R MRS H (IP55 50/60HZ) HZBREER AR 3AC
Vacuum Selection diagram 50 Hz-- H <% ZI[E 3% 50 Hz Compressor Selection Diagram 50 Hz-- BE45i%
120 120
T mh L mh
s 100 ﬁ’ 100
é 80 | %\gHEi 80
& 60 @220 = §\@§\ 60
i) 2\ \e2= % 0.25 —~—
§‘ 40 025 / ' \J\e}. T R — e <2
. 5 - W il s TN Togb 0407 e W -
5 A T :
5 I
: : : . “ 300 mbar 240 180 120 60 0 60 120 180 240 300 mbar
a adctd 2X ot aatis g T Vacuum( £-% i /& ) Total pressure difference A p/ BEZEA p Vacuum( =4 / EJ% )
A g €| EE h&E HAEEE FEER HEWR it = =823 [ 58 I 3 - -
) single frequency power | volt‘lage current | Max airflow  ratedVacuum L= noises Weight
pedet _ , _ compress | Vacuum Selection diagram 60 Hz-- E % iE &I [E 3% 60 Hz Compressor Selection Diagram 60 Hz—- B
double HZ KW Vv A m3/h mbar mbar dB(A) Kg
_ 50 012 200-240A  345-415Y  12A/09Y 55 -60 60 46 _ 150 150
(2HBOT10HOE & 5 044 220-275A  380-480Y = 12A/09Y 68 | -80 s 48 5 T mn mh
_ 50 020  200-240A  345-415Y  1.75A/1.0Y 70 -100 100 48 % 120 120
|eHB11OHOG | &= 60 023 220-275A  380-480Y  1.75A/1.0Y 8 -110 110 50 4 \3\6'?»3 I~ E‘\QGO
onB2ioHos | M 50 025  200-240A  345-415Y  26A/1.5Y 80 ~100 110 53 : é 90 L | 9
60 020  220-275A  380-480Y  2.6A/1.5Y 98 ~110 110 56 > =T = %“\}‘“‘5—@\!‘1@20
| OHB 210 H16 & 50 04 200-240A = 345-415Y = 2.6A/1.5Y 80 _ -120 130 | 53 10 T 60 19 - 0/%% Q s 60
_ | 60 .05 220-275A = 380-480Y @ 2.6A/1.5Y 98 , -150 , 160 56 & g\-\B"// AT 1" ,‘\e’p 2 %Rx&\ ———_. 083
T, g 50 04  200-240A 345-415Y  26AA5Y 105 -120 130 54 i C 5 et 05— 000 X8 7 855 0N |05 ~0 30
_ _ 60 . 05  220-275A  380-480Y  2.6A/1.5Y = 120 -150 . 155 | 57 g 083 oo I fgﬁ (/ D "
| OHB 230 H26 & 50 . 07  200-240A = 345-415Y = 3.8A/f22Y 105 -120 130 54 12 0 083 03 0 : 0
, , 60 . 0.83  220-275A  380-480Y  3.8A/22Y 120 -165 180 | 57 - '
oHBoZoHZB | & 50 0.7  200-240A  345-415Y  3.8A/2.2Y 85 210 240 | 55 6 | 300 mear 240 180 120 60 0 60 120 180 240 00 moer

17 18



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ' | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

=1~}
2HB2 B RERT 2HB2 R RERT
210/230 220
| A
A A 2 —
. o Yxz . =
| N YX G WWA1 VV:
| p N G \ 7 |-\6'
D Cyv WIO VV1 /M YxZ Do
vV 2R il —
1 ¢ | /
o a
5 /
m i S S S o el e > YXZ 0, 2+ - — DX
o | SN i e e s @ 8 3
Q X < o 2. v
T~
\/N [ U y L o — T 2 L |1 s‘" g I ‘JQ-;
= T ~tp— T
(@] o ; o OR [
* F I
c N K MJ 120°
D | N K M N K M
E F F
MegEType #fz A B C D E F G H J K L MNO P Q RS U  VAs V(- VIG-) VI@E) YXZ X-HOLES  ¢X
2HB010-HO6 3~ 190 204 75 156 | 174 220 165 102 70 81 101 90 45 27 Giu 46 8 | 2 M6Xi5 M25X1.5 M16X1.5 M6X15 = 07120%240° | 125
2HB110-HOB 3~ 215 225 75 156 | 174 248 92 116 101 8 101 72 50 32 Gi, 46 9O 2 M6Xi5 M25X1.5 M16X1.5 M6X15 —0°7120%240° = 125
2HB210-HOB 3~ 246 247 90 205 230 252 92 128 101 83 108 75 71 39 Gi, 64 10 2.5 M6Xi7 M25X1.5 M16X1.5 M6X15 = 07120%240° | 140 :
2HB210-H16 3~ 246 247 90 205 230 256 135 128 111 83 108 75 71 39 Gi, 64 | 10 |25 Mexi7 M25X1.5 M16X1.5 M6X15 = 07120%240° | 140 BSR Type *ﬁﬁi‘ A ‘ AlB ‘ C ‘ D ‘ E | B ‘ G | H ‘ H | J ‘K| L ‘ M| N ‘0| " ‘0‘ ¢H| 5| T | u |V(1~)|V'(1~) V1(3~)| V1(3~) ‘ a | ¢X‘ YXz | X-Holes
2HB230-H06 3~ 246 247 90 205 230 265 102 128 101 83 108 75 82 39 Gl 64 10 25 M6X17 M25X1.5 M16X1.5 M6X15 = 07120%240° | 140 2HB220-H26 | 3~ 284 316 270 45 205 230 316 135 128 106 111 83 108 75 130 39 Gy 64 10 3 88 M6X17 M25X1.5 M16X1.5 27° 140 M6X15 51°%171%291°
2HB230-H16 3~ 246 247 90 205 230 267 135 128 111 83 108 75 82 39 Gi,, 64 10 2.5 M6X17 M25X1.5 M16X1.5 M6X15 = 07120%240° | 140
2HB230-H26 3~ 246 247 90 205 230 267 135 128 111 83 108 75 82 39 Gi, 64 10 25 M6X17 M25X1.5 M16X1.5 M6X15 = 07120%240° | 140
2HB210-A11 1~ 246 247 90 205 230 256 135 128 101 83 108 75 71 39 G, 64 10 | 3  M6X20 M16X1.5 M25X1.5 M6X15 = 0°120%240° | 140
2HB230-A11 1~ 246 247 90 205 230 267 135 128 111 83 108 75 82 39 Gi, 64 10 | 3 M6EX25 M16X15 M25X1.5 M6X15 = 0°120%240° | 140

19 20



REXCHIP 55

AND ELECTRICAL CO., LTD.
ENMERRERRAA

l | TAIZHOU REXCHIP MECHANICAL

2HBB/3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ)

(B, 845 ) RIRATREGR4HESEEK (IP55 50/60HZ )

2H33NACUUM COMPRESSION TYPE CURVE
BTSRRI 4L 3AC

Vacuum Selection diagram 50 Hz-- H % i##![E 3% 50 Hz Compressor Selection Diagram 50 Hz-- B &Fi%#

21

T 150 150
m’fh msm
o 120 120
<
w90 90
B
z 60 i -~ 60
B is
. 30 30
B4 BiE2H BX #E FHE 8 1.3
2 5 R SE® M= T EE HEER  HRAE HZEH BaEH e . : © .
(2HB 3AC) : i v 300 mbar 240 180 120 60 0 60 120 180 240 300 mbar
Model single  frequency  power voltage current Max airflow  rated Vacuum rated compress noises Weight Vacuum( 73 fi & ) :
L - . Vacuum( E%s / iEJE
double HZ KW A m3/h mbar mbar dB(A) Kg Total pressure difference A pi' :EE% A p ( ’)_
50 0.55 | 200-240A  345-415Y  2.8A/1.6Y 100 -110 120 55
2HB310HO6 = ¥ 5 o063 | 2202758 | 380480y | s0anTY | 120 110 120 57 L Vacuum Selection diagram 60 Hz-- HZi##[E]3% 60 Hz Compressor Celetion Diagram 60 Hz-- B4giE3![E 3k 60 Hz
50 07 | 200-240A  345-415Y  38A/22Y 100 150 150 55
2HB 310 H16 & - : : 12 180 - 180
60 0.83 | 220-275A  380-480Y = 3.8A/22Y 120 -150 140 57 ;.-.;% &?}0 {.1;%
50 055 | 200-240A 345-415Y  2.8A/1.6Y 140 80 90 56 o ' Zal
2HB 330 HO6 L - - : 12 < 120 | | .| 083y 120
60 0.63 | 220-275A  380-480Y  3.0A/1.7Y 165 -100 100 58 - 200
| | | 90 MBIZ 70 90
50 075 | 200-240A = 345-415Y  3.8A/22Y 140 ~100 100 56 g ‘ T om0 07
2HB330H16 & 13 g LT botg
60 083 | 220-275A  380-480Y 38A/22Y 165 115 100 58 § 601 s T [ 1 ~—ot5 [ | |60
50 0.85 | 200-240A = 345-415Y  4.2A/2.4Y 110 -200 230 58 = 30 0.83 ¢ 30
2HB 320 H26 @ i i i 17 2
60 0.95 | 220-275A  380-480Y = 4.0A/23Y 130 —240 240 60 g oL 11| L [ | [ 1 | | | . L | | | | | 1 | I I O R
D " 50 13 | 200-240A = 345-415Y  5.7A/3.3Y 110 —230 230 58 . @ 500 mbar 400 300 200 100 0 100 200 300 400 500 mbar
| | | 1 N
60 15 | 220-275A  380-480Y = 6.0A/35Y 130 -260 260 60 Vacuum( £-% §i /£ ) Total pressure difference A p/ BEZA p Vacuum( JE%; / Jz,z;._l




. - i TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ; AND ELECTRICAL CO., LTD.
' i : ENEREEARAT

2HBB Single stage mounting dimensions 2HBB TWO STAGE MOUNTING DIMENSIONS
[=1=}
2HB3 BERERT 2HB3 A RER
310/330 320
I A
A A 32 G—
. G— YxZ s
| VvV YXZ G VW1 V-
i ™~ o 5\ 7/
' VV1 ’_\6
) V’VT 2 V,v1. \O d sz 00
vV V1 v T o (ﬂ I
| i o
| % /
@ - — — i 5 YXZ [2 2 L = X
5 | S i i N m S 3
Q < N i
X x = ~
\/K o U J L - I :c? L 1 r Q E L %o
ot o) : < T
o v k_/o :’ p OR \I I L
* e, I
D ~—N K M N K M
WgETpe Mz A B C D E F G H J K L M NO P Q $RS U Vi) V(- VIG) VIG) YXZ X-HOLES X
2HB310-HO6 3~ 268 272 93 205 230 260 135 141 111 83 108 82 69 41 Gi, 64 10 25 MBX17 M25X1.5  M16X1.5 M6X15  0°120%240° 160
2HB310-H16 3~ 268 272 93 205 230 260 135 141 111 83 108 82 69 41 Gi, 64 10 25 M6X17 M25X1.5 M16X1.5 M6X15  0°120%240° 160
2HB330-HO6 8~ 268 | 272 93 205 230 | 276 | 185 | 141 111 83 108 82 85 41| Gl, 64 10 25 M6X17 _ M25X1.5 M16X1.5 M6X15 = 0%120%240° 160 | 8% Type |ﬁ{g| A ‘ A' ‘ B | C‘ D | £ | Fla | H ‘ H | J ‘K L | M‘ N ‘0 ‘ p ‘ - ‘ ““ s T‘ U ‘ V(i) J V(1) |v1(3_) Vi@ | n ‘ ¢X‘ YXZ | X-Holes ‘
2HB330-H16 3~ 268 272 93 205 230 276 135 141 111 83 108 82 85 41 Gi, 64 10 25 M6X17 M25X1.5  M16X1.5 M6X15  0°120%240° 160
- - - - - - - - - - b b - - - - - - - 2HB 320-H36 | 3~ 293 324 286 47 205 230 354 160 141 114 120 83 |108 82 138 41 G, 64 10 3 |92 M6Xi7 M25X1.5 M16X15 27° 160 M6X15  51%171%291°
2HB310-A01 1~ 268 | 272 93 205 230 260 92 | 141 101 83 108 82 69 41| Gl, 64 10 3 MEX17 M25X15 MI6X1.5 M6X15 = 0°120%240° 160
| oHB 310-A11 | 1~ | 268 | 272 | 93 | 205 | 230 | 260 | 92 | 141 | 101 | 83 | 108 | 82 | 66 | 41 Gl l6a | 10 | 3| MBX17 | M25X1.5 | M16X1.5 | | | mex1s | o120%240° | 160 | 2HB 320-A31 1~ 203 324 286 47 205 230 354 160 141 114 120 83 108 82 138 41 Gy, 64 10 3 92 M6X17 M25X1.5 M16X1.5 27° 160 M6X15  51%171%291°
2HB330-A11 | 1~ 268 | 272 93 205 230 276 135 141 111 83 108 82 85 41 Gl, 64 10 25 M6Xi7 M25X15 MI6X1.5 _ M6X15 | 0%120%240° 160




TAIZHOU REXCHIP MECHANICAL

l | AND ELECTRICAL CO., LTD.
‘ ENMERRERRAA

i b

2HB4/3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2HB4IVACU UM COMPRESSION TYPE CURVE
(E, 84 ) RIRAZSRERERMELSE*K (IP55 50/60HZ ) A= BiER 4R 3AC
B RiEeH BX e B T T Vacuum Selection diagram 50 Hz-- HZi#RI[E 3% 50 Hz Compressor Selection Diagram 50 Hz-- FR4E 1%
_ 2H% ?AC €| EE h&E HEEE HEER HEWR it = HZEA B4EE H
( Model ) single frequency power voltage current Max airflow rated Vacuum n orna':::erce’ = noises  Weight T 200 -9 r
m¥h
double HZ KW v A m3/h mbar mbar dB(A) Kg 160 \’1’%J
B 410 HOS | X 50 07  200-240A  345-415Y  38A22Y 145 120 | 120 63 o 2 | N RN
60 0.83  220-275A = 380-480Y  3.75A/2.15Y 175 140 140 64 z 120 ‘:39&7 7o TN085 %
| t | | t | = 07
50 0.85 | 200-240A = 345-415Y 4.0A/2.3Y 145 -160 160 63 = 80 4 ~a e
2HB410H16 & | | | | | | | | 16 5 - \:2\@(\01.3 16 T~
60 0.95 220-275A 380-480Y 3.85A/2.25Y 175 -160 160 64 g 40 25 O/O/ T T 07 )\\0 T T \O T
50 13 200-240A = 345-415Y 5.7 A/3.3Y 145 -170 200 63 b N T e LTI s o N S - I B B | | | T2 ] |
2HB 410 H26 L - i - - i - - - 17 & 0
60 - 15 | 220-275A  380-480Y  6.0A/35Y 175 _ -210 _ 220 . 64 _ 400 300 200 100 0 100 200 400 500 mbar
50 0.7 200-240A = 345-415Y 3.8A/22Y 180 -90 90 64 ‘
2HB 430 H06 -] | | | | | | | | 14 | Vacuum( AE k) : Vacuum( /=45 / 1IEJE )
60 0.83 220-275A = 380-480Y 3.8A/2.2Y 210 -100 110 65 - Total pressure difference A p/ BEZA p o
50 0.85 200-240A | 345-415Y 4.2A/2.4Y 180 -110 100 64
EHIB 420 A0 = 60 0.95 I 200-275 A I 380-480Y 4.0A/2.3Y I 210 I -120 I 120 I 65 L Vacuum Selection diagram 60 Hz-- IEEE!* 60 Hz Compressor Celetion Diagram 60 Hz-- !ﬁﬁﬂ
50 1.3 200-240A = 345-415Y 6.6A/3.8Y 180 -180 180 64
2HB 430 H26 B 1 i T 1 T i T i 18 250 — 250
60 15 220-275A  380-480Y 6.9A/4.0Y 210 -180 170 65 ey =
50 07 | 200-240A | 345-415Y  2.8A/1.6Y 140 120 120 63 200 200
2HB 490 H16 B8 ! i - | i i - i 14 <
60 0.85 220-275A  380-480Y 36A/2.1Y 175 -140 140 64 ¥ 1501+ 450
50 1.6 200-240A = 345-415Y 7.5A/4.3Y 150 -280 280 66 £
60 2.05 220-275A  380-480Y 7.6A/4.4Y 180 -320 310 69 8 oss _ —~——L_255
50 22 200-240A | 345-415Y  97A/56Y 150 ~330 420 66 g N ° =0
2HB 420 H46 ¢ ' ! ' ' 1 ' ' ' 27 = 0o [ | N N )
60 255 220-275A | 380-480Y 10A/5.8Y 180 -350 440 69 g .
: ' ' : : : : ' . 500 400 300 200 100 0 100 200 300 400 500
Vacuum( A% i /& )

Total pressure difference A p/ BEZA p Vacuum( &5 / JEE-E,




. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

(-1~}
2HB4 B RERT 2HB4 R RERT
410/430/490 420
A
(e )
| VY1 291G | A
| IR X oo A vz 32 G—
2%, V1 v L Vvt ) @’]V'\”' VV1 VvV
AN Vg 6'
T 3 Ezd? vz | %,
m 4 — =1 o YXZ o | /
P ‘ i aa
Lo = ¢ /
L|—- T ' —
% . U / > L T Do__ 1 — q)x
o W ; @ A - <= m ~N o
o o o ®R [ e ) &3
i N X . ~
@ 2,
C e N—el— M 120° X - -
: . N K W' N K- M © T_-1 1 T
E F F =
!
‘ﬁme|ﬁﬁ‘A B|C‘D E|F G H|J‘K‘L‘M|N‘O‘P|Q|¢H|S‘ U ‘V(1~)‘V’(1~}’V1(3~)‘V1'(3~)‘YXZ‘X—HOLES‘«#X‘ N K M
F
2HBA410-HO6 =3~ 286 | 302 115 225 255 260 | 135 154 111 95 130 70 75 46 Gi, 72 12 3 M6X19 M25X1.5 M16X1.5 M6X15 0°7120%240° 174
2HB410-H16 3~ 286 | 302 115 225 255 292 | 160 154 120 95 130 70 75 46 Gi, 72 12 3 MEX19 M25X1.5 M16X1.5 M6X15 0°120%240° 174
2HB410-H26 3~ 286 | 302 115 225 255 292 | 160 154 120 95 130 70 75 46 Gl 72 12 3  MEX19 M25X1.5 M16X1.5 M6X15 0°7120%240° 174
e 0, o I | I |
|2HB430-HO6 | 3- | 286 | 302 | 115 225 255 288 135 | 154 111 95 130 70 75 46 Gl, 72| 12 3 Mexi9 | | M25X15 MIBX15  MeX1s | 0°/120%/240 174 | B8 Type ‘H&|A| . ‘B‘C| D ‘ el F ‘ alulwl .y ‘KI L ‘M|N o P|Q‘¢H%s‘ T | U ‘ V(i) | V(is) |W{3~) VI(3-) a|¢x‘ YX2Z ‘ X—Holes ‘
2HB430-H16 3~ 286 | 302 115 225 255 311 | 160 154 120 95 130 70 75 46 Gi, 72 12 3 MeX19 M25X1.5 M16X1.5 M6X15 0°120%240° 174 !
- M S R T I S E—— - - - - - - B 2HB420-H36 3~ 322 324 315 58 225 255 401 191 154 | 153 | 128 95 130 73 151 45 Gy 72 12 3 104 M6X19 M25X1.5 M16X1.5 28° 174 M6X15 51°/171%291°
2HB 430-H26 3~ 286 | 302 115 225 255 311 160 | 154 120 95 130 70 75 46 Gi, 72 12 3  MsBX19 M25X1.5 M16X1.5 MEX15 = 0°120%240° 174 | | | | | | | | | [ || | | I | | | | | | | | |
. | Rl i il il Wl o B W) M e B0 [7€] 7 ]|%] | 1 | | | | Rl ) ; S
2HB490-H16 3~ 286 302 115 225 255 311 160 | 154 120 95 130 70 75 46 Gl,, 72 12 3 MeX19 M25X15 M16X15 MeX15 0°120°%240° 174 kel Rl i el bl Rl L bl sl il el Bl Bl B 1 i el i Gl Bt i B sl [  ASBB | S8 I MRt REAITRGE" |
2HB410-A11 1~ 286 | 302 115 225 255 204 | 160 | 154 120 95 130 70 75 46 Gi, 72 12 3 M6X19 M16X15 M25X15 M6X15 = 0°120%240° 174 2HB420-A31 1~ 322 324 315 58 225 255 401 191 154 | 153 | 128 95 130 73 151/ 45 G, 72 12 3 104 M6X19 M16X1.5 | M25X1.5 28° 174 M6Xi5 51%171%291°
2HB 410-A21 1~ 286 | 302 | 115 225 255 294 | 160 | 154 120 95 130 70 75 46 Gl,, 72 | 12 3 M6X19 MI16X1.5 M25X1.5 MBX15 = 0%120%240° 174 ' ' S ' - - ' ' ' - ' '
2HB430-A11 1~ 286 | 302 115 225 255 311 | 160 | 154 120 95 130 70 75 46 Gl 72 12 3 M6X19 M16X15 M25X15 M6X15 = 0°120%240° 174
2HB430-A21 1~ 286 | 302 115 225 255 311 | 160 | 154 120 95 130 70 75 46 Gi, 72 12 3 M6X19 M16X15 M25X15 M6X15 = 0°120%240° 174

27 28



AND ELECTRICAL CO., LTD.
ENMERRERRAA

l | TAIZHOU REXCHIP MECHANICAL

i b

2HBS/3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2HB5/VACUUM COMPRESSION TYPE CURVE
(B, 85 ARATRBRR L8 (IP5550/60HZ ) R=REzRT 4% 3AC
B8 RESH BR HE #E BE  EE Vacuum Selection diagram 50 Hz-- B i#8I[E R 50 Hz Compressor Celetion Diagram 50 Hz-- B i%H
il ea $RE hE HAEBEE HEEER HWxE BZEAH 4RI 00— _ 300
(2:'3)330) single  frequency  power voltage current  Max airflow rated Vacuum rated compress noises Weight T m’h m’h
250 250
double HZ KW v A m3/h mbar mbar dB(A)  Kg vy
- 200 200
SHB 510 Ho6 B 50 085  200-240A | 345-415Y | 4.0A/23Y 210  -160 170 64 B
60 0.95 220-275A | 380-480Y | 4.2A/2.4Y 255 -150 160 70 g 150 | 150
P—— B 50 1.3 200-240A | 345-415Y 6.6A/3.8Y 210 -170 170 64 55 g
60 1.5 220-275A  380-480Y 6.9A/4.0Y 255 -180 190 70 o 100 L 100
50 1.6 200-240A  345-415Y | 7.5A/4.3Y 210 -200 190 64 8 ~0,
SREDISHE ® 60 2.05 220-275A | 380-480Y | 7.6A/4.4Y 255 -220 210 70 = § 500 - - - | C)/0 B
= 4
wswwe W S oman s s m o mow o LLLLELTTLLLTTR T T LT L LI PRI T,
! : | | : : ! ! - ! ! - 500 mbar 400 300 200 100 0 100 200 300 400 500 mbar
JHE 530 Hos . 50 085  200-240A  345-415Y | 4.0A2.3Y 270 ~100 100 65 o | vest i _
60 0.95  220-275A | 380-480Y | 4.2A/24Y 330 -110 110 71 s (= Total pressure difference A p/ BEZ A p Vacuum( £ % / ﬁ'!;i-)-
I . 50 13 200-240A | 345-415Y | 6.6A/3.8Y 270 ~120 110 65 s |
60 1.5 220-275A | 380-480Y | 6.9A/4.0Y 330 —130 130 71 Vacuum Selection diagram 60 Hz-- EZiERI[E %X 60 Hz Compressor Selection Diagram 60 Hz-- FE4EiE
T . 50 16 200-240A | 345-415Y | 7.5A/4.3Y 270 ~150 150 65 o
60 205  220-275A  380-480Y | 7.6A/4.4Y 330 -150 150 71 T 350 - 5D s - 350
o m fl m
2HB 530 H36 & 50 .22 200-240A | 345-415Y 9.7A/58Y | 270 220 230 65 %6 w300 4|1 N A A I I I O P o . " 300
60 255  220-275A  380-480Y  10.3A/6Y | 330  -260 250 71 y 5o L '8
50 1.1 200-240A | 345-415Y 5.7 A3.3Y 210 -130 150 64 ! 250 1111 5 S O e e s s e e AL \ ——1 - - —t—TTTTT1T1T1 250
ZHB 590 H26 ® 60 13 200-275A  380-480Y  6.0A/3.5Y 255 ~180 210 70 23 = 2T 95 2853,
22 200-240A | 345-415Y | 9.7A/5.6Y 230 290 360 72 . id 5~ T3P 200
2HB 520 H36 & - : - = i B 25 & 150 | \ 2 | O~ I I I 'Y Y,
60 255 | 220-275A  380-480Y | 10.3A/6.0Y 275 ~350 330 74 3 -y \2;’5\“‘32 n e 46
50 3 200-240A  345-415Y | 125A/7.2Y 230 -340 410 72 § 100 +————t-t0— I B 20 - O Y M i I O o * 25 Y
2HB 520 Hat i 60 3.45 220-275A | 380-480Y | 12.6A/7.3Y 275 -380 360 74 0 g 4.60/c 255 b ok i O
2HB 520 H57 o 50 | 4 | 345-415A | 600-720Y 10A/5.8Y _ 230 | -390 _ 490 72 | 44 i 50 11 255 T T T 1T 11 ' ' [ ' [ 11 ' [ I I O B R B B
60 _ 4.6 | 380-480A | 660-720Y 9.9A/B.71Y _ 275 _ -410 _ 480 74 _ 0 +—- — — : 1 : ' —t — : : T e R
500 mbar 400 300 200 100 0 100 200 300 400 500 mbar
Vacuum( A% i & ) Vacuum( JE 43 / iEJE )

Total pressure difference A p/ RIEZEA p >




. - i TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ; AND ELECTRICAL CO., LTD.
' i : ENEREEARAT

[=1=}
2HB5 BEELRRR 2HB5 S RER
A
510/530/590 YxzZ W1\+.W G 520
th
5 d V'V1
T AN L
=) z
g YXZ / 2, A f
- 1 NP ST OV NS N \
1 & Y W= — G—n
X ) 8
[ L v ﬂ“\\\ YxZ
| l = ’ V'V
Y VAV1 1
120° ?{ )
l— N e ! f
N-==—K—=M . _ 1] 2 1
F 7 O L I N
C I X
U 7 2
76\ ‘ T+ > o
HType {8z A B C D E F G H J K L M N O P QRS U V(i) V(o) VI@) VI(E) YXZ X-HOLES X W ‘ ), oR ' 5
o
2HB510-HO6 | 3~ 334 337 120 260 295 314 160 175 120 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29 i l N / / |
1 T
2HB510-H16 | 3~ 334 337 120 260 295 314 160 175 120 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29 o®
_*.P..‘._
2HB510-H26 | 3~ | 334 337 120 260 295 346 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29 —eq- M-
2HB510-H36 | 3~ 334 337 120 260 295 346 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29 D F
2HB 530-HO6 | 3~ | 334 337 120 260 205 334 160 175 120 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29 E
2HB530-H16 | 3~ | 334 337 120 260 295 334 160 175 120 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29
2HB 530-H26 | 3~ | 334 337 120 260 295 365 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29
2HB530-H36 | 3~ | 334 337 120 260 295 365 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29
EgEType #8fZ{ A | A |B|/C|D |[E|F G| H H|J |K|L(M|N|O P Q|$RS|T| U vV v V1 VIt [ ¢X| YXZ X-Holes W
2HB590-H26 | 3~ | 334 337 120 260 295 365 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5  M16X1.5 M8X20 0%120%240° 200 | 29
| oHBS10-A11 | 1~ | 334 | 357 | 120 | 260 | 295 | 314 | 160 | 175 | 120 | 115 155 | 96 | 87 | 48 | G2 | 83 | 14 | 4 | MeX17| M25X1.5 | M16X15 | | ["mexzo | o°n120°240° | 200 | 29 | 2HB 520-H46 3~ (372 411 371 60 260 295 465 190 175 144 135 115 155 98 | 171 48 G2 83 | 14 4 116 M8X17 M25X1.5 M25X1.5 200 M8X20 51.5%171.5%2915° 42
2HB510-A21 1~ 334 337 120 260 295 345 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5 M16X1.5 M8X20 0°%120%240° 200 | 29 2HB 520-H57 3~ (372 411 371 60| 260 295 499 224 175 144 135 115 155 98 | 171 48 G2 83 | 14 4 |116 M8X17 M25X1.5 M25X1.5 200 M8X20 51.5%171.5%291.5° 42
2HB530-A11 1~ 334 337 120 260 295 334 160 175 120 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5 M16X15 MBX20  0%120°240° 200 | 29
2HB530-A21 1~ 834 337 120 260 295 365 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X1.5 M16X1.5 M8X20  0%120°240° 200 | 29
2HB590-A21 1~ 834 337 120 260 295 365 191 175 128 115 155 96 87 48 G2 83 14 4 M8X17 M25X15 M16X15 MBX20 | 0°%120°240° 200 | 29

31 32



AND ELECTRICAL CO., LTD.
ENMERRERRAA

l_ | TAIZHOU REXCHIP MECHANICAL

REXCHIP M 1 :

2HBG/3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2H35/VACUUM COMPRESSION TYPE CURVE
(B, @45) RBRETRIERMLELHE (IP5550/60HZ ) R=REzRT 4% 3AC
Vacuum Selection diagram 50 Hz-- H % i##![E 3% 50 Hz Compressor Selection Diagram 50 Hz-- B4z
A e o S T S R S |
T m¥h 5 | g m’th
300 /z_;f‘f/’ il gﬁﬂeﬁ?ﬁmﬂ 300
é J‘g/::y \-\“"“'--..\H 1.6
> 200 R IS B B ity I 0 o~ O o 0 S I A N B 200
k= 2. res
= 2?,/% 1.6 ~ 22 g
bl
O 10011 S N A A 1 ) A A A I I LI NRora L L 100
| | | _ _ . g 3‘:’//3 g \73
B BiESH mKEEE BE HE - - '§ 0 0
B 5% o T ES & BEETE WEER RS HEEH B4 EH e 300 mbar 250 - 200 150 100 50 0 50 100 150 200 250 300 mbar
(2HB 3AC) Vacuum( £.% i & ) Total dift Ao MEZA Vacuum( /&4 / SEJE )
Model single  frequency  power voltage current Max airflow  rated Vacuum rated compress noise  Weight - SIRTRES LIS SIIRIONSE & Pros P >
HZ v ' B(A K . z ’ : z ;
gotne sl 2 Lhil Lk L B 9 Vacuum Selection diagram 60 Hz-- H % i#H![E 3% 60 Hz Compressor Celetion Diagram 60 Hz—- FR{E R
50 16 = 200-240A  345-415Y  8.5A/4.9Y 265 -170 180 68
2HB 610 HO6 & o .05  200075a 380480y  88ABAY | 315 180 190 0 2 400 400
| i | | a | : = | | - | 3 |1 2 3
50 22 200-240A  345-415Y  9.7A/5.6Y 265 235 220 69 T " 2 w&"ﬂa—-—*ﬂaﬁ«o WQ_ mm
60 255 = 220-275A  380-480Y  10.3A/6.0Y 315 245 230 72 Y, ot T [ L1 7] T2, 0205
50 3 200-240A  345-415Y = 12.5A/7.2Y 265 -280 280 69 i T ““‘M\
2HB 610 H26 B | | | | | | | | | 32 = 200 I N N I - | = 205 | L { | | | N N A A | | ™=t | | T 555 || 200
60 3.45 220-275A 380-480Y = 12.6A/7.3Y 315 -260 270 72 B 2.55 \t&? e
' ' ' - ' ' ' = ' & 3.45 345 205 o<
SHB 630 HOG . 50 16 = 200-240A  345-415Y  8.5A/4.9Y 345 125 125 70 26 8 100l BT PG L L || L2 1R s | 100
60 205 = 220-275A  380-480Y = 8.8A/5.1Y 415 -105 130 73 - 345
50 22 200-240A  345-415Y  9.7A/5.6Y 345 -200 195 70 T o0 | || | | . NN IEEEEE | | | || | | L1l
2HB 630 H16 5 - : - : - - | 29 2
60 255 | 220-275A  380-480Y  10.3A/6.0Y 415 _ -170 _ 195 73 300 mbar 250 200 150 100 50 0 50 100 150 200 250 300 mbar
50 3 200-240A  345-415Y | 12.5A/7.2Y 345 —240 220 70 : :
. | | _ | | | _ | . Vacuum( A% fi /& ) ) Vacuum( A% / EJE )
FHESSR0HES | 60 845  200-275A  880-480Y  126A/7.3Y 415 210 220 73 = -t Total pressure difference A p/ 2EZEA p ( >




£HB6 SINGLE STAGE MOUNTING DIMENSIONS
2HB6 BAREER T

610/630

YxZ —TW
S vv1\ Wr—G

OX-3x120°—
T
l
|
|
|
_<
N
N

|—
K

120°

T

RSEType #f A B C D E F G H J K L M N O P Q ¢R S U VA~ V@~ VI(B~) VI(3) YXZ X-HOLES ¢X W

2HB 610-H06 3~ 360 366 122 290 325 354 191 192 | 128 140 180 64 74 56 G2 83 13 |45 MBX17 M25X1.5 M16X1.5 M8X20  0°/120%240° 226 29
2HB 610-H16 3~ 360 366 122 290 325 354 191 192 | 128 140 180 64 74 56 G2 83 13 |45 MBX17 M25X1.5 M16X1.5 M8X20  0°/120%240° 226 29
2HB610-H26 3~ 360 366 122 290 325 385 188 192 135 140 180 64 74 56 G2 83 13 4.5 MBX17 M25X1.5 M25X1.5 M8X20  0°/120%240° 226 42
2HB 630-H06 3~ 360 366 122 290 325 372 191 192 | 128 140 180 64 74 56 G2 83 13 |45 MBX17 M25X1.5 M16X1.5 M8X20  0°/120%240° 226 29
2HB630-H16 3~ 360 366 122 290 325 372 191 192 | 128 140 180 64 74 56 G2 83 13 |45 MBX17 M25X1.5 M16X1.5 M8X20  0°/120%240° 226 29

2HB 630-H26 3~ 360 366 122 290 325 403 188 192 135 140 180 64 74 56 G2 83 13 4.5 MBX17 M25X1.5 M25X1.5 M8X20  0°/120%240° 226 42




AND ELECTRICAL CO., LTD.
ENMERRERRAA

l l TAIZHOU REXCHIP MECHANICAL

2HB7 /3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2HB7/VACUUM COMPRESSION TYPE CURVE
(B, @45) ARES R 4ELHE (IP5550/60HZ ) R=RimgthiE 3AC
L BiESH BK HE HE P - Vacuum Selection diagram 50 Hz-- HE % i##![F 3% 50 Hz Compressor Selection Diagram 50 Hz-- B &Fi%#
%) 8 7] | WE HEEE ExBE  ARRE HZEH  EBEEH 500 500
(21?0(,3;,\ &) single  frequency  power voltage current Max airflow V;Egt?gm rated compress noises  Weight T 586'1 Eého
double HZ KW v A m3/h mbar mbar dB(A)  Kg o >
| ! < 400 oo 2 400
SHB 710 H16 ™ 50 .22 200-240 A 345-415Y  9.7A/56Y 318 - 210 200 .69 30 i % \:
60 2.55 220-275A 380-480Y  10.3A/6.0Y 376 -210 200 72 2 300+ ] 300
50 | 3 200-240A | 345-415Y | 125A/7.2Y 318 270 290 69 g %
2HB 710 H26 | = 60 345 | 220-275A | 380-480Y | 126A/73Y 376 250 230 7 a6 % 200 DTSN s 200
50 4 345-415A | 600-720Y = 9.0A/5.2Y 318 290 330 69 %5
B TOESE % 60 46 | 380-480A | 660-720Y  9.0A/5.2Y 376 ~330 330 72 40 g 10 Eh 0
T - 50 43 345-415A | 600-720Y = 95A/55Y | 318 295 | 335 69 " g8 ol LT L AT PP T N I
| 60 48 380-480A | 660-720Y = 95A/55Y | 376 335 335 72 3
SHB 720 H16 . 50 22 200-240A | 345-415Y = O7A/56Y | 320  -220 | 210 73 4 500 mear 400 300 200 100 0 100 200 300 400 500 600 moar
_ 60 . 255 220-275A 380-480Y = 10.3A/6.0Y 380 | -170 | 150 .76 Vacuum( % % /& ) Total diff Ao/ BEEA Vacuum( &4 / EJE )
SEE 956, Hoe » 50 3 200-240A | 345-415Y | 125A/7.2Y 320 280 | 260 73 - otal pressure difference A p/ & p >
| 60 345 | 220-275A | 380-480Y  126A/7.3Y 380 230 200 76
SHB 720 H27 " 50 4 345-415A | 600-720Y = 9.0A/52Y | 320 355 | 375 73 s : :
| 60 . 46 380-480A | 660-720Y = 9.4A/52Y | 385 | -345 | 315 76 Vacuum Selection diagram 60 Hz-- H % i#8![E 3% 60 Hz Compressor Selection Diagram 60 Hz-- B &Fi%#
| 60 48 380-480A | 660-720Y = 10.4A/6.0Y 380 -850 320 76|
50 55 345-415A | 600-720Y = 133A/7.7Y 320 440 500 73
FhB R0 | 60 63 | 380-480A  660-720Y  13.3A/7.7Y 380 —440 500 76 €6 f 700 700
50 7.5 345-415A | 600-720Y | 16.7A/9.6Y 320 440 570 73 L
2HB 720 H57 | & 60 86 | 380-480A | 660-720Y | 17.3A/100Y 380 460 660 76 {8 gﬁl ggg _ ggg
SHiB a0, e n 50 22 200-240A | 345-415Y = O7A/56Y 420  -170 | 170 70 s = T T T T T T T T TS e 1 SEEEEEEEEEEEEEEE EEBREER
| 60 255 | 220-275A | 380-480Y  10.3A6.0Y 500  -160 150 3 > 4004t tit it Al afuiEhL o NN RN 400
50 3 200-240A | 345-415Y | 12.5A/7.2Y 420 220 200 70 & ; A
2HB 730 H26 | = 60 345 | 220-275A | 380-480Y | 126A/78Y 500 -200 190 73 bk & 800t e A RN 300
2HB 730 H37 E- 50 | 4 345_415A 6‘00_720Y | 90Af52Y | 420 | _260 | 310 t ?0 43 [3 200 1 M i h ) T T 111 - . == g T T 111 '-""'--—______‘__%)6 200
60 46 380-480A | 660-720Y = 9.0A/52Y 500  -260 280 73 € 400 86 ' - 100
50 4 345-415A | 600-720Y = 9.0A/52Y | 500  -150 | 140 74 2 e ‘
2HB 740 H37 & 60 46 | 380-480A | 660-720Y  9.0A/52Y 600  -100 90 78 | % | S ool LU PP PP LLL PP g
50 5.5 345-415A | 600-720Y | 13.3A/7.7Y 500 240 260 74
2HB 740 H47 @ o o3 380480 | 660720y 135807 | eo0 | i0 | 200 s 89 500 mbar 400 300 500 600  700mbar
50 75 345-415A | 600-720Y = 16.7A/9.6Y 500  -240 | 320 74 : .
2HB 740 H57 | & 60 . 86 380-480A 660-720Y | 17.3A/10.0Y 600 . =270 300 .78 7 Vacuum( A% §i & ) Total pressure difference A p/ BIEZE A p Vacuum( % / ij’a
SEE 9506 Hoe - 50 2.2 200-240A | 345-415Y | 12.5A/7.2Y 320 160 200 69 -
60 255 | 220-275A | 380-480Y  126A/7.3Y 370 240 250 72

37 38



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ' | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

2HB7 SINGLE STAGE MOUNTING DIMENSIONS 2HB7 TWO STAGE MOUNTING DIMENSIONS
2HB7 EREER T 2HB7 #iRRER T
710/730/790 720

YXZ VW1 W G
V'V1

o > YxZ F 20

)

N YXZ © S, N ur YxZ

m TtF—t —————1— T (
z | & : o
X g M g
i X T 0,
1 © i L — \ \j
120° L5 .L
—N——K—~—M— o
F F

WHType At A B C D E F G H J K L M NOPQGOGRS U Vi9 V() VIG) VIE) YXZ X-HOLES ¢X W ﬂHTypa‘ﬁﬁlA‘A' aw|c D‘E F|G‘H‘H“J K‘L M‘N‘O'P Q|¢Hs T|U v ‘ v | Vi ‘ Vi ‘¢x‘vxz‘ X-Holes ‘w‘
2HB710-HO6 3~ 882 | 384 125 200 325 377 191 197 128 140 180 84 109 54 G2 83 15 45 M8X17 M25X1.5 MI6X1.5 MI10X20 0Y120°%240° 240 29 '
- I il Bl Il | [l Rl B In Bl Il Wl kil BN R - | | | | - Bl Bk SHB720-H16 3~ 426 426 410 63 200 325 473 191 197 162 128 140 180 84 205 53 G2 83 15 45 130 M8X17 M25X1.5 M16X1.5 240 M10X20 51.5%171.5%291.5° 29
2HB710-H16 3~ 882 | 384 125 200 825 377 | 191 197 128 140 180 84 109 54 G2 83 15 45 M8X17 M10X20  0°120%240° 240 29
PP [T (RO, Fopy e e ey gpeesy R Gy ey sy e e Sy ey ey P e, Py jrasspe PSR [REETEYeY EEs—" Pm——" P g JHB720-H26 3~ 426 426 410 63 200 325 496 188 197 162 135 140 180 84 205 53 G2 83 15 45 130 M8X17 M25X1.5 M25X1.5 240 M10X20 51.5%171.5%201.5° 42
2HB710-H37 =3~ 382 | 384 125 200 825 432 209 197 148 140 180 84 109 54 G2 83 15 45 M8X17 ' M10X20  07120%240° 240 42 OHB720-H37 3~ 426 426 410 63 200 325 526 209 197 162 148 140 180 84 205 53 G2 83 15 45 130 M8X17 M25X1.5 M25X1.5 240 M10X20 51.5%171.5%201.56° 42
2HB750-HO6 | 8~ | 502 | 984 | 125 | 200 | 826 | 367 | 191 | 197 | 128 |140) 180 | 84 | 109 54| G2 83| 15 |4.5) MBX17 | M25X1.5 | M16X1.5 M10X20  0°/120%/240° | 240 29 2HB720-H47 3~ 426 426 410 154 290 325 571 226 197 162 167 |140 180200 205 53 G2|83 15 |4.5| 130 M8X17 M25X1.5 M25X1.5 240 M10X20 51.5%171.5%291.5° 42
2HB730-H16 3~ 382 | 384 125 200 825 387 191 197 128 140 180 84 109 54 G2 83 15 45 M8X17 M25X1.5 M16X1.5 M10X20  0°120%240° 240 29
- [~ | il Bl Il | Bl Rl Enia In Ehifl Il el il B R - | | k | - Bl Bk OHB720-H57 3~ 426 426 410 154 200 325 571 226 197 162 167 140 180 200 205 53 G2 83 15 45 130 M8X17 M25X1.5 M25X1.5 240 M10X20 51.5%171.5%201.5° 42
2HB730-H26 =3~ 382 | 384 125 200 825 419 | 189 197 135 140 180 84 109 54 G2 83 15 45 M8X17 M25X1.5 M25X1.5 MI10X20 0%120°240° 240 42 I il Ml Bl I Bl el e bl . Il el _ _ . . . .
2HB730-H37 =3~ 382 | 384 125 200 325 432 209 197 148 140 180 84 109 54 G2 83 15 45 M8X17 M25X1.5 M25X1.5 MI10X20 0%120°240° 240 42
2HB790-H26 = 3~ 382 | 384 125 200 825 377 | 185 197 128 140 180 84 109 54 G2 83 15 45 M8X17 M25X15 MI6X15 MI10X20 0Y120°%240° 240 29

39 40



! I

#HB7 TWO STAGE MOUNTING DIMENSIONS D E D I CATI O N
SHECRR St PROGRESRIGOROUS UNITY

740

A 6
42 -—
YxZ -
\ V
<)
" \ YXZ © Yo.
Q S
m ] — e - — e —— e —
g )
« /
5
L [ —
| 120°
— —H
= |
N K—L M=
D
E
,-_M—-
RgE Type AL A B C C D E E G H J K L M N (0] = Q $¢R S U v o X YXZ X-HOLES
2HB 740-H37 3~ 420 410 125 200 325 | 526 209 197 148 140 180 B84 205 153 G2 83 15 645  M8x17 | 2XM25X1.5 240 M10X20  0°%120°/240°
2HB 740-H47 3~ 420 410 308 290 325 | 571 | 226 257 167 140 180 200 205 @ 153 G2 @ 83 15 645  M8x17 | 2XM25X1.5 240 M10X20  0°%120°/240°
2HB 740-H57 3~ 420 410 308 290 325 | 571 | 226 | 257 167 140 180 200 205 @ 153 G2 @ 83 15 645  M8x17 | 2XM25X1.5 240 M10X20  0°%120°/240°

4




TAIZHOU REXCHIP MECHANICAL

l | AND ELECTRICAL CO., LTD.
‘ ENMERRERRAA

i b

2HBB/3AC (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2"'33/ VACUUM COMPRESSION TYPE CURVE
(B, 84 RIRAZRBSER4aEL 8% (IP55 50/60HZ ) BT BRuRRR ihaE 3AC
5 5% ;z e i - Eziﬁﬁ o . ﬁti;l Egiﬁ @Ziw gz - S Vacuum Selection diagram 50 Hz—- R E 2R [E%& 50 Hz Compressor Celetion Diagram 50 Hz-- FR#EiERI
(2HB 3AC) : : rated : :
Model single frequency power voltage current Max airflow -~ rated compress noises Weight T 1000 1000
double HZ Kw v A m3/h mbar mbar dB(A) Kg - mh m’h
| a. -415A 720Y 5A/55Y -2 2 7 800 T T T T T T T T T T T T T T T T T T Tt L =T T T T T T 800
e — . 50 3 345-415 600-720 9.5A/5.5 530 00 00 0 - y \%5\
60 46  380-480A  660-720Y 9.5A/5.5Y 620 -160 160 74 2 600 AR SNEEEEN EEEEREE 600
. -415A 720Y 12.9A/7.4Y - 2 7 B Pl
- ¥ 50 5.5 345-415 600-720 9A/7 530 300 320 0 6 8 uoo % m) 100
60 63  380-480A  660-720Y  12.9A/7.45Y 620  -320 340 74 £ o parg | 2075 ; 5| 1113
R _—"— - 50 75  345-415A  600-720Y  16.7A/9.6Y 530 -320 380 70 = (i 200 o000 IS Sl ”05\3 ------ =0 | 200
60 8.6 380-480A  660-720Y  17.3A/10.0Y 620 -350 400 74 2 o Y G HEEEEEEEEEN NN EEEEEEEE L4123 I I I L
SHB 820 H17 @ 50 5.5 345-415A 600-720Y 13.3A77.7Y 520 -240 240 74 83 3 500mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar
60 6.3 380-480 A 660-720Y 13.3A/7.7Y 620 -170 160 78 Vacuum( A% fi J& ) Total diff A of B A Vacuum( /E%; / EJE )
e — . 50 75  345-415A  600-720Y  16.7A/9.6Y 520 -400 400 74 ” - SELRISRSHIS OINSIBNCE & B = B =
60 86  380-480A  660-720Y  17.3A/10.0Y 620 -360 330 78
oHB 820 H37 " 50 11 345-415A  600-720Y  28.0A/16.2Y 520 -430 600 74 104 Vacuum Selection diagram 60 Hz—- R Ei#H [E]%& 60 Hz Compressor Celetion Diagram 60 Hz-- BRI
60 126 880-480A  660-720Y  29.0A/16.7Y 620 -460 600 78
1 —415A 720Y 5A/18.8Y -4 7 74
aise ‘asainy % 50 5 345-415 600-720 32.5A/18.8 520 60 670 120 1200 11T T T T T T T T T 1200
60 173 380-480A  660-720Y  34.5A/19.9Y 620 -490 750 78 ' 2 '
50 43  345-415A  600-720Y  9.5A/5.5Y 700 -150 140 70 i 1000 ——— LT e s T T T T T T T T T T T T T T 1000
2HB 830 HO7 B 57 2 86— ag30 2H, " P~
60 46 380-480A  660-720Y  9.5A/5.5Y 840 -190 190 74 5 800 Pl  ueS= 3?&8 b 800
B 2H| A ™~
50 55  345-415A  600-720Y  12.9A/7.4Y 700 -200 180 70 > 600 T 88— eee0L L ABe0 T || L e et 600
£ e [ -____a:___-_- B.b 312.6
SHE GO 60 63  380-480A  660-720Y  12.9A/7.45Y 840 -180 180 74 o6 2 R Eﬁs/?/%ﬁ@m || [ e L L L
g 400 o — 638 46 ) o3 T o0
R 50 75  345-415A  600-720Y  16.7A/9.6Y 700 270 260 70 & S pop 195 126 q__,-%// 65 | T 10,k 26 28! | 200
60 8.6 380-480A  660-720Y  17.3A/10.0Y 840 -270 260 74 g EEEEERECEEEEEEEEEEEEEEEERIEEEEEEERRRRREEEEEEERRRRRREEEREERR NN
S BB i " 50 75 345-415A  600-720Y 16.7 A/9.6Y 900 -200 180 74 . § 0 0
60 8.6 380-480 A 660-720Y 17.3A/10.0Y 1050 -150 120 78 7 500mbar 400 300 200 100 0 100 200 300 400 500 600 700 800 mbar
50 11.0 345-415A  B00-720Y  28.0A/16.2Y 900 -280 370 74 Vacuum( A% i /& ) _ Vacuum( E4%; / JEJE )
- - 11 Total pressure difference A p/ BEZE A
GHB SR X 60 126 380-480A  660-720Y  29.0A/16.7Y 1050 -310 350 78 2 - s & : —




. - i TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ; AND ELECTRICAL CO., LTD.
' i : ENEREEARAT

(-1~}
2HB8 B RERT 2HB8 #RERT
810/830 820 .
F’ F ]
YxZ M
r—G—* Y
N M—y-
YxZ w
= I B Bl
Y XZ K [25 ';_|
2 %
S T & %y L8l
54 5 il
3 / i
G T oP o] 2] -—N K —
| | = L A %4
120° D
E
~—N K M
[ m\’\
L '\/ 120°
F \
[ .
i 120
| —
Rk Type ML A A B B C D E F B G H|H|[ J K L M N N O E ¢R S A W b X YXZ X-HOLES
2HB 810-HO7 3~ | 451 461 509 152 | 356 394 433 450 230 240 148 170 217 | 140 @ 124 65 G2, 15 6  2XM25X1.5 42 | 286  M12X20 0°120%/240° WeEType ML A A B B C D E FF G H H J K L M N N O P o4R'S v W  $X YXZ  X-HOLES
2HB 810-H17 3~ | 451 461 509 152 | 356 394 433 477 226 240 167 170 217 | 140 | 124 65 G2, 15 6 @ 2XM25X15 42 286 | M12X20 0°/120%240° 2HB 820-H17 | 3~ 500 549 | 490 509 76 356 394 545 589 226 240 199 167 170 217 236 84 65 G2z 15 | 6 | 2XM25X1.5 42 | 286 M12X20 514%120%240°
2HB 810-H27 3~ | 451 461 509 152 | 356 394 433 477 226 240 167 170 217 | 140 | 124 65 G2, 15 6 @ 2XM32X15 42 286 | M12X20 0°/120%240° 2HB 820-H27 | 3~ 500 549 | 490 509 76 356 394 545 589 226 240 199 167 170 217 236 84 65 G2,, 15 | 6 | 2XM25X1.5 42 | 286 @ Mi12X20 514%120°%240°
2HB 830-HO7 3~ | 451 461 509 152 356 394 449 466 230 240 148 170 217 | 139 | 164 65 G2, 15 6  2XM32X1.5 42 | 286  M12X20  0%120%/240° 2HB 820-H37 = 3~ 500 549 | 490 509 76 356 394 545 694 318 240 199 197 170 217 212 84 105 G2, 15 6 | 2XM32X1.5 54 286 MI12X20 514%120%240°
2HB830-H17 3~ 451 461 500 152 356 394 449 492 247 240 167 170 | 217 | 139 164 65 G2, 15 6 2XM3@2X15 42 286  MI2X20 0Y120%240° 2HBB20-H47 = 3~ 500 549 490 509 76 356 394 545 604 318 240 199 197 170 217 212 84 105 G2, 15 | 6 | 2XM32X15 54 286  MI2X20 | 514%120°240°
2HB 830-H27 3~ | 451 461 509 152 356 394 449 492 247 240 167 170 217 | 139 164 65 G2, 15 6  2XM32X1.5 42 | 286  M12X20 0°120%/240°




Rt RN | i |

2HBB TWO STAGE MOUNTING DIMENSIONS D E D I CAT I O N
S R PROGRESRIGOROUS

840
A F
5 YxZ I =
L] W—
e
<0 I N I IS I
3
x
e
|| — _{
i
N K— M-
L —
/ D\
| .
L ~4_ /
120°
-—M—-—
HIE Type ﬂﬁtABC‘C"DEFGHJ K L ™M N O P ¢R S Y W & X YXZ  X-HOLES
2HB 840-H27 3~ | 500 @550 @ 152 356 394 589 247 300 167 170 217 236 125 G2, 15 66  2XM32X1.5 42 286 M12X20 0°120%240°
2HB 840-H37 3~ | 500 @550 336 | 356 394 694 318 300 197 170 217 312 212 165 G2, 15 66  2XM32X1.5 54 286 M12X20 0°120%240°

47




ENERBMERRAA

. - TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 I l tiﬁﬁ AND ELECTRICAL CO., LTD.

2H39/3Ac (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ) 2HB9/VACUUM COMPRESSION TYPE CURVE
(B, @45) ARESRAMER4ELHE (IP5550/60HZ ) R=RimgthiE 3AC
L BiESH BK HE HE - . Vacuum Selection diagram 50 Hz-- HZi#RI[E 3% 50 Hz Compressor Selection Diagram 50 Hz-- FR4E 1%
(2H% %AC) - B hER BEEER BETER HER iR = HZEZEAN R 4a R 5
r ) Max rated . . 2500 - - - . . - - . T - - - - T . . - - - . . 1T . . - - . . . - - . - . - . - - . . T - - 25!00
Model | single  frequency power voltage current alrflow rated Vacuum compress noises  Weight T m%h | m*h
double HZ KW v A m3/h mbar mbar dB(A)  Kg “’g 2000 T 2000
50 85  345-415A | 600-720Y  182A/105Y 1050 210 210 74 L L Bt T L L LTS oo [ | Ll
2HB g10-Ho7 | W 60 98  380-480A  660-720Y  18.2A/105Y 1250 180 180 79 93 ”é\ 1500 25 ~2Hgs,  ° %2()1:&\025 1500
g N 50 125 345-415A  600-720Y  28.0A/162Y 1050 280 270 74 = g 25 Banatoh | |2 88 | Juboso| hoe] 25
60 145 380-480A 660-720Y 29.0A/16.7Y 1250 -270 260 79 & 1000 500 BE 5| BRme L g5 O————1 1o | | | | 120 | | g 1000
SHB 910 H27 ™ 50 15  345-415A  600-720Y = 35.0A/20.0Y 1050 -320 _ 380 . 74 120 9] ngj/#— AL 2rB9t Bo10 T3 16.5 —o0—_ 3
60 175 380-480A  660-720Y  36.5A/21.0Y 1250 340 360 79 = 500 Lobeeks 15| 138 =TTCL A S — 500
P—— 5 50 185  345-415A  600-720Y  37.0A/21.0Y 1050 -360 460 | 74 o g Nedla8 ‘ T8s | 8 8.5
_ 60 21.3 | 380-480A  660-720Y = 39.0A/225Y 1250 -380 420 79 g oL L1 LI T I8 [ [I{TII1]]]] [l | [ | | A i I 0 A
50 125 345-415A  600-720Y  28.0A/16.2Y 1110 300 270 74 b7
2HB 020 HI7 & 80 | 145  380.480A  660.720Y  29.0AM67Y 1310 20 a0 | 18 187 0ma 400 300 200 100 0 100 200 300 400 500 600 mbr
50 16.5 345-415A 600-720Y 35.0A/20.0Y 1110 -420 370 74 acuum( JL& 0 & ) Vacuum( E45 / iEEJE )
cHB g0 He7 | W 60 19 380-480A  660-720Y  36.5A/21.0Y | 1310 30 300 78 167 pe Total pressure difference A p/ BEZA p ( -
oHB 920 H37 | @ 50 20 | 345-415A  600-720Y  40.0A/230Y 1110 440 500 74 204
60 23 380-480A  660-720Y = 42.0A/24.2Y 1310 —440 430 84 o > R .
oHB 920 H47 | & 50 25  345-415A  600-720Y  52.0A/30.0Y 1110 -450 50 74 L, Vacuum Selection diagram 60 Hz—- E TR [E]3% 60 Hz Compressor Selection Diagram 60 Hz-- FR#4E IR
| 60 29 | 380-480A | 660-720Y  520A/30.0Y 1310 450 540 84 | |
50 85  345-415A  600-720Y = 18.2A/10.5Y 1370 -120 110 75 e R
b gsoHor | W 60 98  380-480A  660-720Y = 182A/105Y 1650 140 140 80 88 T i ﬁﬁ% o
50 125 | 345-415A  600-720Y  28.0A/162Y 1370 -190 180 75 175 | o023 | HEREREEEEREEEE
2HB 930 H17 | & 60 145 = 380-480A  660-720Y | 20.0A/167Y | 1650 50 150 80 121 i 2000 23 0 2000
oHB 930 Ha7 ¥ 50 185  345-415A  600-720Y  37.0A/21.0Y 1370 310 80 75 131 é 2HB930 9
_ 60 21.3  380-480A  660-720Y = 39.0A/225Y 1650 -300 280 | 80 o 1500 CeRE =T T T T T T T T T T T T T T T T 1T 1500
50 15 | 345-415A  600-720Y = 35.0A/20.0Y 1940 -130 | 110 | 75 R Bo 9 23
2HB g0 H27 | W 60 175 380-480A  660-720Y  36.5A/210Y | 2310 150 150 84 157 S 1000t =100 _14%:£¥Mw29 o
B B 50 20 | 345-415A  600-720Y  40.0A/23.0Y 1940 220 200 75 _— g 20(23) ik 145 o0
60 23 | 380-480A  660-720Y = 42.0A/242Y | 2310 -160 130 | 84 1] | &=0T] : Lttt
B ot0 a7 | @ 50 25 | 345-415A | 600-720Y  52.0A/30.0Y 1940 310 270 75 10 g 500 213 500
| 60 29 | 380-480A | 660-720Y  520A/30.0Y 2310 270 | 220 g4 B
SHB 943 H27 t 50 15 345-415A 600-720Y 35.0A/20.0Y 2050 -160 170 75 220 cg 0 - ' T T L L - T T 0
_ 60 1756 = 380-480A  660-720Y = 36.5A/21.0Y = 2480 -110 _ 120 .84 _ 500 mbar 400 300 200 100 0 100 200 300 400 500 600 mbar
_ 60 23  380-480A  660-720Y = 42.0A/242Y 2480 -190 | 180 . 84 Vacuum( A% # /& ) Total pressure difference A p/ BEZE A Vacuum( E4%; / iEJE )
S 4B . 50 25 | 345-415A  600-720Y | 52.0A/30.0Y 2050 310 270 75 55 P Pl P =
60 20 | 380-480A | 660-720Y  52.0A/30.0Y | 2480 270 | 230 84

49 50



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

1=1-}
2HB9 BEARARER 2HB9 A RER
910/930 920
F £l
A a | A
| A "
L — — YxZ
! 5 D W
::!:' V 0] \._
- 2 o e z [ v
& \ YXZ - 5o,
~— =
I A ISR O o T P X T-17 — 1 R — I .
& N Q
m e <
: U o — @ 2
e ; K u 3
ol ®R = =
O o}l o } [] |
| I [T 1T 1 - < 120°
* | T f o
1 Hr T
C’ 0 N - M- t
D r = M
F‘ D F
E E
‘ﬁﬁType’*ﬁ&!A‘B|B1‘C C"D‘E‘F‘F' F"‘G‘H J|K‘M‘N‘O‘P|Q|¢F{‘S‘U‘ v w¢x‘vxz‘x-H0Les‘ ’wrypem&’ﬁ\ A'|B‘B1C‘G"D‘E‘F F"F”’G|H’H"J K|M‘N|O‘P‘Q‘¢RST‘U| v W¢X‘YXZ‘X—HOLES‘
2HB 910-HO7 3~ 550 569 55 | 207 15 360 415 525 644 605 268 300 167 533 39 89 92 | G4 150 15 | 21  M10x30 2XM25X1.5 | 42 | 490 M12x30 0%120%/240° 2HB 920-H17 3~ 615|780 607 16 | 104 15 360 415 752 786 634 345 300 234 197 | 533 39 230 92 G4 150 15 | 21 117 M10X30 2XM32X1.5| 54 [490 m12x30 51.4%120%240°
2HB 910-H17 3~ 550 569 55 | 207 15 360 415 650 644 605 345 300 197 533 39 89 92 | G4 150 15 | 21  M10x30 2XM32X1.5 | 54 | 490 M12x30 0%/120%240° 2HB 920-H27 3~ 615|780 607 16 | 104 15 360 415 752 786 634 345 300 234 197 | 533 39 230 92 G4 150 15 | 21 117 M10X30 2XM32X1.5| 54 |490 m12x30 51.4%120%240°
2HB 910-H37 3~ 550 569 55 | 207 15 360 415 650 644 605 345 300 197 533 39 89 92 | G4 150 15 | 21  M10x30 2XM32X1.5 | 54 | 490 M12x30 0%/120%240° 2HB 920-H37 3~ 615|780 607 16 | 104 15 360 415 752 786 634 345 300 234 197 | 533 39 230 92 G4 150 15 | 21 117 M10X30 2XM32X1.5| 54 |490 m12x30 51.4%120%240°
2HB 930-HO7 3~ 550 569 55 | 207 15 360 415 563 682 643 268 300 167 533 39 127 92 G4 150 15 | 21  M10x30  2XM32X1.5 | 42 | 490 M12x30 0°%120°/240° 2HB 920-H47 3~ | 615|780 607 16 | 104 15 360 415 812 786 634 405 300 234 197|533 39 230 92 G4 150 15 | 21 117 M10X30 2XM32X1.5| 54 490 m12x30 51.4%120%240°
2HB 930-H17 3~ 550 569 55 | 207 15 360 415 688 682 643 345 300 197 533 39 127 92 G4 150 15 21 | M10x30 | 2XM32X1.5 | 54 | 490 M12x30 0%/120%240°
2HB 930-H37 3~ 550 569 55 | 207 15 360 415 688 682 643 345 300 197 533 39 127 92 G4 150 15 21 | M10x30  2XM32X1.5 | 54 | 490 M12x30 0%/120%240°

51 52



TAIZHOU REXCHIP MECHANICAL

REXCHIPEIfﬁEE i g | AND ELECTRICAL CO., LTD.
I L1 ENERMEARL T

2|-|394o TWO STAGE MOUNTING DIMENSIONS 2|-||39 TWO STAGE MOUNTING DIMENSIONS
2HB940 #iR R R T 2HB9 #iRER T

%0 \

Bl1p—
fa
)
—
=

YxZ

\ YxZ %

OX-3%120°

N K
F
0

2HB 940-H27 3~ 615 663 19 207 15 360 415 752 786 345 358 197 | 533 39 230 150 G4 140 15 79 M12X35 2XM32X1.5 54 490 M12X30 120%60%60° T 8- 6ik 255 o ibo - 1501 848 - - o &k . ” MEX40 AXMAOX1.S ” M12X10.5

2HB 940-H37 3~ 615 663 19 207 15 360 415 752 | 786 345 358 197 533 39 230 150 G4 140 15 79 | M12X35 54 490 M12X30 120°60%60°
] | ] l | ] 2HB 943-H37 3~ 615 723 307 490 526 1201 848 578 291 219 G5 201 58 M8X40 4XM40X1.5 54 M12X10.5

2HB 940-H47 3~ 615 663 19 207 15 360 415 812 | 786 345 358 197 533 39 230 150 G4 140 15 79  M12X35 2XM32X1.5 54 490 M12X30 120°%60%60°
2HB 943-H47 3~ 615 723 307 490 526 1201 908 578 351 219 G5 201 58 M8X40 4XM40X1.5 54 M12X10.5




AND ELECTRICAL CO., LTD.
ENMERRERRAA

l_ | TAIZHOU REXCHIP MECHANICAL

3HB THREE PHASE (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ)

= m e =] 50 7.5 350-450 A 610-725Y 15.0A/8.7Y 320 -530 700 71
(B, S84 ) MIRR ZRBERERES B (IP55 50/60HZ ) SRIRIERGTERBA T TRoIe 60 86 | 400-500A | 690-725Y | 15.1A/8.8Y 380 ~580 610 74 i
50 11 350-450A | 610-725Y | 22.0A/12.7Y 320 ~530 870 72
i 60 126 400-500 A 690-725Y | 22.0A/12.9Y 380 580 930 76 1ea
. 50 40 350-450A | 345-415Y | B.AA/4.8Y 320 300 250 69
ShbsoeeRsT b Tme 60 46 400-500A | 690-725Y | B82A/M4.7Y 380 200 150 72 82
. 50 55 3504508 | 610-725Y | 11.1A/6.4Y 320 490 410 7
SHESOSHE | IR 60 63 | 400-500A | 690-725Y | 11.0A/6.4Y 380 ~410 300 74 =
. 50 7.5 350-450 A 610-725Y 15.0A/8.7Y 320 -680 620 71
e 60 8.6 400-500A | 690-725Y | 15.1A/8.8Y 380 650 510 74 L
. 50 11.0 | 350-450A | 610-725Y | 22.0A/12.7Y 320 680 1020 72
PHESSO=SEGT | Tipie 60 126 400-500 A 690-725Y | 22.0A/12.9Y 380 —650 880 76 1=
. 50 150 | 350-450A | 610-725Y | 30.5A/17.3Y 320 680 1020 72
SHESEOSSHAE [ lipe 60 173 | 400-500A | 690-725Y | 29.5A/17.0Y 380 650 1050 76 156
. 50 3.0 200-260A | 350-450Y | 11.4A/6.5Y 480 130 120 69
SHESe0Tk=e: | Singe 60 345 | 230-290A | 400-500Y | 10.8A/6.2Y 565 =70 60 74 66
. 50 4.0 350-450A | 610-725Y | B.AA/4.8Y 480 230 200 69
8HB 850-1H37 | Single 60 46 400-500A | 690-725Y | B2A/M4.7Y 565 170 140 74 78
BR -~ BELH BX HE #HE . - 3HB 550-1H47 | Single 50 5.5 350-450 A 610-725Y | 11.1A/6.4Y 480 -380 330 69 88
) oF @ = HEER EEER HEMR i 2 HEEH A 60 6.3 400-500 A 690-725Y 11.0A/6.4Y 565 -310 260 85
(SHB SAC) rated 3HB 550-1H57 | Singl 50 7.5 350-450 A 610-725Y 15.0A/8.7Y 480 -380 500 69 %
Model single | frequency | power voltage current Max airflow | 7o | rated compress | noises | Weight i 60 8.6 400-500 A 690-725Y | 15.1A/8.8Y 565 ~410 440 85
50 55 350-450A | 610-725Y | 11.1A/6.4Y 480 270 220 70
double HZ KW f A m3/h mbar mbar dB(A) | Kg el 60 6.3 400-500A | 690-725Y | 11.0A/6.4Y 580 180 130 74 L
| GHB350-1H16 | Single IR A WE - S LR = e & | 3HB550-2H57 | Double | g oo T 4005004 | eo0rey | iotamsy |50 = 200 | 12
o e S man Sy WAy o m w8 R R R T S S
PrTOpEeE EREE AR AR R Y I R e R
| 3HB350-1H47 | Single & S o o i s o o | T 3HB 550-3H57 | Triple = so | 00800s | esoveey | isTaray | 880 o0 "o oo e
BT L T N X R I T R e x
P A A N S s e | B e Som Babw B % & n
50 55 350-450A | 610-725Y | 11.1A/6.4Y 320 530 480 7 . 50 185 | 350-450A | 610-725Y | 37.0A/21.0Y 480 610 1020 7
el i 60 63 | 4005004 | 690-725Y | 11.0A/6.4Y 380 —480 390 74 =0 SHBOSOSSHET g 60 213 | 400-500A | 690-725Y | 36.5A/21.0Y 580 ~590 870 77 i




. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l I AND ELECTRICAL CO., LTD.
i , ENERHETRAT

3HB Double/Multi-Stage Selection diagram 50/60Hz 3HB Double/Multi-Stage Selection diagram 50/60Hz
3HB £i#EF =&} R 5l 50/60Hz iEAE R 3AC 3HB &i#EF1 = &R R 5l 50/60Hz EEIE R 3AC
THERMEREMEREMRE 15CER, HRES 1013mbar TR TFRIHA, £ £10%, BAZRMNRERETEIB 25TH, = THEHR R MEREMR 15CER, HRES 1013mbar TR TRIHAE, £ZE £10%, RAZRNRITERETBIE 25CH,
RIRrE R B R AEEE &y BIArERI B RAREE,
The performance curves are valid for pumping air at 15C at the inlet flanges with an air pressureof 1.013mbar and a tolerance of N The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25 . £ + 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25T .
Vacuum Selection diagram 50Hz-- H % &I [E] 3} 50Hz Compressor Celetion Diagram 50Hz-- & i# 2! [E 3% 50Hz
800 800
750 750
700 700
650 650
600 600
T 550 550 T
~ 500 500 =
= =
& 450 450 E
3 400 400 3
& &
£ 350 350 g
S 300 300 0. S
g o 250 250 g
@ 11.0=15.0=18. .
200 200
_.o
150 150 1.0=150
/ 100 100
7.5=11.0=15 50 50
1100 1000 900 800 700 600 500 400 300 200 150 100 50 0 0 50 100 150 200 300 400 500 600 700 800 900 1000 1100
Total pressure difference A p/ BEZEA p e \/acuum( A% ) Total pressure difference A p/ BEZEA p Pressure( /& /) ) -

57 58



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l I AND ELECTRICAL CO., LTD.
i , ENERHETRAT

3HB Double/Multi-Stage Selection diagram 50/60Hz 3HB Double/Multi-Stage Selection diagram 50/60Hz
3HB £i#EF =&} R 5l 50/60Hz iEAE R 3AC 3HB &i#EF1 = &R R 5l 50/60Hz EEIE R 3AC
THENMEEHER MR 15CER, HREN 1013mbar IR TAIHA, RE £10%, BRASKMEERERBIA 25CH,
RIFER B R E

The performance curves are valid for pumping air at 15C at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

THEA MM EREMHR 15CER, HRESN 1013mbar (TR TRIHA, £ZE +10%, BRAZSRMEBREREREIB 25CH,
BirER| B R e E,

The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Vacuum Selection diagram 60Hz-- HZ=i#8![E]3R 60Hz Compressor Celetion Diagram 60Hz-- FE4EiER![E] 3% 60Hz
800 800
750 750
700 700
650 650
600 600
T 550 550 T
2 i 500 500 .
C 8 55“’% 450 450 E
g 12.6=17.3-21.3 / 3HB % 400 400 3
£ - - 46, . 350 350 g
5 12.6=17.3 . 300 300 5
‘E 250 250 E
86=12.6=17.3 &89 200
150 150
100 100
50 50
1100 1000 900 800 700 600 500 400 300 200 150 100 50 0 0 50 100 150 200 300 400 500 600 700 800 900 1000 1100
Total pressure difference A p/ BEZEA p e \/acuum( A% ) Total pressure difference A p/ BEZEA p Pressure( [k /) ) s



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

3H33 TWO STAGE MIOUNTING DIMENSIONS 3H33 TWO STAGE MOUNTING DIMENSIONS
3HB3 #iARERT 3HB3 #iRERT
350-1 350-2
A F" A F'
P’ M
R
v1,V2 |
- - — R T
- 1 /Vl /V? \_/
'—‘ (D 2 | f F F
i ah LT @\
J
oo
) g NV -—J| g i L/
" - S &)
= :|\7 ———— R & :4 = :[\ | R %
L T C L ! C
P P
F F
HIZE Type Gizhiva A B C D = F = G H H” K L P R V1 V2 X Y-Z AIEE Type bizlios A B C D E F F F~ G H H K L M P R Vi Va2 X Y=z
3HB 350-1H26 3 481 488 199 420 450 527 481 225 338 173 ®14.5 325 423 G2z 2*M32*1.5 | 2*M32*1.5 @228 M8*20 3HB 350-2H26 3 508 534 199 420 450 646 600 482 225 464 173 ©14.5 325 220 423 G2z 2*M32*1.5 2*M32*1.5 o228 Msa*20
3HB 350-1H37 3 481 490 199 420 450 527 559 217 340 175 ®14.5 325 423 G2 2*M32*1.5 | 2*M32*1.5 @228 M8*20 3HB 350-2H37 3 507 536 199 420 450 646 678 482 217 466 175 ©14.5 325 220 425 G212 2*M32*1.5 2*M32*1.5 o228 Msa*20
3HB 350-1H47 3 481 490 199 420 450 527 544 210 340 175 @®14.5 325 423 G2 2*M32*1.5 | 2*M32*1.5 @228 M8*20 3HB 350-2H47 3 507 536 199 420 450 646 663 482 210 466 175 ©14.5 325 220 425 G2z 2*M32*1.5 2*M32*1.5 o228 Msa*20
3HB 350-2H57 3 507 536 199 420 450 646 698 482 210 466 175 ©14.5 325 220 425 G2z 2*M32*1.5 2*M32*1.5 o228 Msa*20
3HB 350-2H67 3 507 564 199 420 450 646 753 482 184 494 203 ©14.5 325 220 425 G2z 2*M32*1.5 2*M32*1.5 o228 Msa*20

61 62



. - ] TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 l | AND ELECTRICAL CO., LTD.
Ll - ENBEREEARLD

3HBB TWO STAGE MOUNTING DIMENSIONS 3HBS TWO STAGE MIOUNTING DIMENSIONS
3HB3 £ TERT 3HB5 &R RERT
350-3 550-1
F' A B
A ,
£ ¢
M
; V1,V2
(N U ) — R
V1,V3 rfi{
i
] 1 ] XyZ ] \
- : - i . = — 7
‘ . - \x“// ) -
s ) @ = HY Sl R :4
1 = K 1 - N
_..\ T
| _[ \_|_ ﬁ | - I _l_l \"_I_
L j C L
P D P
F N F
L

HIZE Type bzl A B (o D E F F’ F~ G H H" K I M B R V1 V2 X Y-Z RISE Type FRL A B (o D E F F* G H H" K 1= P R Vi V2 Y-Z
3HB 350-3H37 3 481 610 199 420 450 765 791 482 217 561 175 ®14.5 325 8 425 G2z | 2*M32*1.5 2*M32*1.5 ©228 M8*20 3HB 550-1H26 3 553 545 228 420 450 634 495 364 372 184 ©14.5 262 516 G3 2'M32*1.5  2*M32*1.5 = M8*20
3HB 350-3H47 3 481 610 199 420 450 765 782 482 210 561 175 ®14.5 325 8 425 G212 | 2°M32*1.5 2*M32*1.5 ©228 M8*20 3HB 550-1H37 3 553 547 228 420 450 634 574 309 374 186 ©14.5 262 518 G3 2'M32*1.5  2*M32*1.5 = M8*20
3HB 350-3H57 3 481 610 199 420 450 765 817 482 210 561 175 ®14.5 325 8 425 G212 | 2°M32*1.5 2*M32*1.5 ©228 M8*20 3HB 550-1H47 3 553 547 228 420 450 634 558 302 374 186 ©14.5 262 518 G3 2*M32*1.5  2*M32*1.5  M8*20
3HB 350-3H67 3 481 638 199 420 450 765 872 482 184 589 203 ®14.5 325 8 425 G212 | 2°M32*1.5 2*M32*1.5 0228 M8*20 3HB 550-1H57 3 553 547 228 420 450 634 594 302 374 186 ©14.5 262 518 G3 2'M32*1.5  2*M32*1.5  M8*20
3HB 350-3H77 3 481 638 199 420 450 765 931 482 184 589 203 ®14.5 325 8 425 G214z | 2°M32*1.5 2*M32*1.5 ©228 M8*20




. - i TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 ; AND ELECTRICAL CO., LTD.
' i : ENEREEARAT

3HBS TWO STAGE MOUNTING DIMENSIONS 3HBS TWO STAGE MIOUNTING DIMENSIONS
3HBS £ TERT 3HB5 &R RERT
550-2 550-3
Fi’
FJI ﬁ v
: ¢
F M
.
[ /VVV? /vyvz
s
] . . a1 - @h\|
= = g - - Y
T = ML ©
5 D df N
L I 1oy
P P
P F
B Type 4 A B c D E S R H H K L M P R V1 v2 X | v-z RSE Type ML A B & D E F el B H H K L M P R Vi V2 X | vz

3HB 550-2H47 3 578 600 228 420 450 764 688 593 302 517 186 ®14.5 325 248 518 G3 2'M32*1.5 2*M32*1.5 ®255 M8*20 3HB 550-3H57 3 553 682 228 420 450 894 854 593 302 623 186 ©14.5 325 8 518 G3 2*M32*1.5 2*M32*1.5 ©255 Msa*20
3HB 550-2H57 3 578 600 228 420 450 764 724 593 302 517 186 ®14.5 325 248 518 G3 2*M32*1.5  2*M32*1.5 ®255 M8*20 3HB 550-3H67 3 553 710 228 420 450 894 968 593 276 651 214 ©14.5 325 8 518 G3 2*M40*1.5 2*M40*1.5 ©255 Msa*20
3HB 550-2H67 3 578 628 228 420 450 764 838 593 276 545 214 ®14.5 325 248 518 G3 2*M40*1.5 | 2*M40*1.5 ®255 M8*20 3HB 550-3H77 3 553 710 228 420 450 894 968 593 276 651 214 ©14.5 325 8 518 G3 2*M40*1.5 2*M40*1.5 ©255 Msa*20
3HB 550-2H77 3 578 628 228 420 450 764 838 593 276 545 214 ®14.5 325 248 518 G3 2*M4071.5 = 2*M40*1.5 ®255 M8*20 3HB 550-3H87 3 553 710 228 420 450 894 993 593 276 651 214 ©14.5 325 8 518 G3 2*M40*1.5 2*M40*1.5 ©255 Msa*20




AND ELECTRICAL CO., LTD.
ENMERRERRAA

l | TAIZHOU REXCHIP MECHANICAL

it Tt

4HB 1AC Selection and ordering data for side channel blowers in vacuum and pressure operation (Single phase)

4HB Series Selection diagram 50/60Hz 1AC

RAXNAREESMEDREMBRITHLY (E4A) 4HB %5 50/60Hz iZEIE % 1AC
THEAMEEHEREMB 15CERE, HRES 1013mbar LR TEHA, £ZE +10%, BRASRMIRERELLIA 25TH,
RIRNERIE R EE
_ The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
A + 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .
Vacuum Selection diagram 50Hz-- HZ £ & [E X 50Hz Compressor Celetion Diagram 50Hz-- B4z 5% 8! [E] % 50Hz
Tmo 100
m¥h m'h
: 80 T - 80
7 60 \ . - 60
B BiESH B BT _ BE g =8 % 20 | //é \%RHHH ,,,,,,,, 20
e £ % hE FEEE sEeEn 0 ARRE  "ZEH  BEES S 1507807 10~ G049 N QQF‘“‘“‘H 23015
£ 0 | : : 0
(4HB 1AC) Single  Frequency ~ Power Voltage Current  Maxaiflow oot Oo'fna;ﬁ’g’ss Noises  Weight 2 500mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar
Model G \/acuum( L% ) Total pressure difference A p/ BEZA p Pressure( /% /) ) et
Double HZ KW % A m*/h mbar mbar dB(A) Kg
o8 210 Ao . o - e - = _— poms A Vacuum Selection diagram 60Hz-- E % iZ &I [E* 60Hz Compressor Celetion Diagram 60Hz-- B4 i€ &I [E] % 60Hz
_ _ 60 _ 0.63 230 45 | 57 . -270 320 2 | 120 - T T T T T ST 120
50 15 230 9 47 ~370 600 58 o
4HB 220 A1 * 60 | 175 230 10 | 60 420 e0 | e | ® T 100 ch \Q{g,’,‘ T T CTTTTTTTTTTT 100
N . L 1L (20 I 1 I O O O O
diBaisas: n 50 _ 0.94 . 230 7.6 _ 66 _ 250 350 57 - - 80 //M?h - SRz 80
60 . 1.1 230 9 _ 80 . -280 390 . 62 2 = ) xqo\
iR % 5o | 15 230 9 65 400 550 59 = % 60 P o220 — 8255 Ermpay EEEEREEEEREE 60
60 1.75 230 10 76 -390 540 63 2 40 0 O O I /";‘,\Ez«.eﬁ N, TS NI L L
. . . - = - = | = ™~ ~O1. —TT01.75
4HB 410 AO1 L 0 1'1 |20 | 101 - o i 0 380 > 23 g 1-5/ "'";/ \X‘J‘Lﬁ-ﬁ_
60 1.3 230 10.3 105 -350 390 63 & 20 R = - i = o e R S =TT 20
' ' ' ' ' ' ' b 175 1. 3 063 175
.% 0 4 1 L 1 { 1 i i i L 1 4 4 | | ! | | 1 i 4 i 1 4 i d 4 ! i i i 4 d i ! 4 0
3 500 mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar

. < \/acuum( A% ) Total pressure difference A p/ BEZEA p Pressure( [k /) ) g 68



REXCHIP 55

il

4HB 3AC selection and ordering data for side channel blowers in vacuum and pressure operation (Three phase single stage)

HERXNBRERZTNEHIREMERTHSE (=H. E4R)
G &%l - G-Series

B BIELH B FEE FEE - —_—
B 9% HaR B W EEEE HES®R HEWR iRt & az=EN B 45 JBE 1
Qe Single  Frequency Power Voltage Current | Max airflow Ratad Ratsd Noises  Weight
Model 9 quancy g Vacuum compress 9
Double HZ KW % A m°h mbar mbar dB(A) Kg
50 0.55  200-240A  345-415Y 2.8A/1.6Y 47 -230 290 57
4HB 210 H16 B 16
60 0.63  220-275A  380-480Y  3A/M.7Y 57 -270 320 62
50 0.55  200-240A  345-415Y 2.8A/1.6Y 66 -250 250 57
4HB 310 H16 B 16
60 0.63  220-275A  380-480Y  3A/1.7Y 80 -260 250 62
50 0.81  200-240A  345-415Y  4A/2.3Y 66 -280 350 57
4HB 310 H26 B 17
60 0.94  220-275A  380-480Y  4A/2.3Y 80 -340 360 62
50 1.1 200-240A  345-415Y  5.4A/3.1Y 87 -300 380 58
4HB 410 H16 B 23
60 13  220-275A  380-480Y 5.4A/3.1Y 105 -340 370 2H2
50 15  200-240A  345-415Y  7.5A/4.3Y 120 -310 360 64
4HB 510 H16 B 26
60 1.75  220-275A  380-480Y  7.6A/4.4Y 145 -340 320 68
50 22  345-415A  600-720Y 11.4A/6.6Y 120 -310 470 64
4HB 510 H26 B 29
60 255  380-480A  660-720Y 11.2A/6.5Y 145 -360 480 68
50 22  200-240A  345-415Y 11.4A/6.6Y 165 -340 360 65
4HB 610 H16 B 32
60 255  220-275A  380-480Y 11.2A/6.5Y 195 -360 315 71
50 33  200-240A  345-415Y  13A/7.5Y 165 -340 480 65
4HB 610 H36 B 35
60 38  220-275A  380-480Y 14.2A/8.2Y 195 -380 530 71

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

4HB Series Selection diagram 50/60Hz 3AC
4HB %3l 50/60Hz iE&I[E 3k 3AC

Vacuum Selection diagram 50Hz—- H 2 ®I[E % 50Hz

200
T mh
;g 150
E
3 100
g 50
§
g 0

g \/gcuum( L% )

Vacuum Selection diagram 60Hz-- H %28 [E % 60Hz

200
T m/h
:'é 150
E
ol
y, 100
w
Z 50
§]
£

< \/acuum( A5 )

THEA MM EREMHR 15CER, HRESN 1013mbar (TR TRIHA, £ZE +10%, BRAZSRMEBREREREIB 25CH,
BirER| B R e E,

The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Compressor Celetion Diagram 50Hz-- & i# 2! [E 3% 50Hz

_____ - 200
m’h
/Mﬁe/ﬂ)/ %O _____ [ | S D A Yy
4510 %v\
== R | L S | I IRT "
a0 — gy T T
cae eas_— sl | T~ 78
e — ey T L L s
22(1.5 )W 4-\"\3210 4H821(K%5:
P et o |
400 mbar 300 200 100 0 100 200 300 400 500 mbar

Total pressure difference A p/ BEZA p Pressure( /& 7y ) s

Compressor Celetion Diagram 60Hz-- B4 i€ ]! [E] % 60Hz

S 290
4H86‘{£ m'/h
SEEER. U 150
%3
/ H‘% S~ 100
~ 4H83 ™~
255 0, T
33475/ / 6210~ 3 50
2.55 & I —
_00-94? 030 5

200 300 400 500 600 mbar
Pressure( /& /) ) el

400 mbar 300 200 100 0 100

Total pressure difference A p/ BEZEA p 7



REXCHIP 55

71

TR

4HB 3AC selection and ordering data for side channel blowers in vacuum and pressure operation (Multi- stage)

R RRAERZSNE DIRMEMNEBTRSH ( B4R)

G £5%| - G-Series

B _ BiELHY BX HE FE . B8
B % @iy EE X HEEEF EEmR  HRAR  AZEN  BREAH
(4HB 3AC) , . Rated Rated . .
Modal Single  Frequency Power Voltage Current Max airflow 0« o cOmpress Noises Weight
Double HZ KW v A m°h mbar mbar dB(A) Kg
81 240 A 15Y 4A/23Y 47 -37 4
T » 50 0.8 200-240 345-415 3 370 90 58 54
60 0.94  220-275A  380-480Y 4A/2.3Y 60 -440 480 62
50 15 200-240A  345-415Y 7.5A/4.3Y 47 -370 650 58
2
4HB 220 H56 ® 60 175  220-275A  380-480Y 7.6 A/4.4Y 60 -500 740 62 8
50 11 200-240A  345-415Y 5.4A/3.1Y 65 -400 480 59
4HB 320 H4 29
ki * 60 1.3 220-275A  380-480Y  5.4A/3.1Y 76 -480 480 63
50 15 200-240A  345-415Y 7.5A/4.3Y 65 -440 540 59
4HB 320 H 30
320 H56 € 60 1.75 220-275A 380-480Y 7.5A/4.4Y 76 -560 600 63
50 15 200-240A  345-415Y 7.5A/4.3Y 87 -480 450 61
B G0 Hes . 60 1.75 220-275A 380-480Y 7.6A/4.4Y 105 -430 410 66 =
: 240 A 15Y 13A/7.5Y 7 - 7 1
AHB 420 H56 v 50 3.3  200-240 345-415 3A/75 8 500 50 6 2
60 3.8  220-275A  380-480Y 13.8A/8Y 105 -510 850 66
50 22  200-240A  345-415Y  11.4A/6.6Y 120 -470 460 64
4HB 520 H2 40
20 6 . 60 2.55 220-275A 380-480Y _ 11.2A/6.5Y 145 -500 450 70
50 4 345-415A  600-720Y  10.0A/5.8Y 120 -500 820 65
’
SHESEORET = 60 46  380-480A  660-720Y  9.8A/5.7Y 145 -530 810 71 >
50 3.3 200-240A  345-415Y 13A/7.5Y 165 -460 500 67
4
AHBIRE HoR * 60 38  220-275A  380-480Y  14.2A/8.2Y 195 -480 420 71 =
50 55  345-415A  600-720Y  13.3A/7.7Y 165 -460 740 68
4HB 620 H57 @ 65
60 6.3  380-480A  660-720Y  13.3A/7.7Y 195 -480 840 72
50 7.5  345-415A  600-720Y  16.7A/9.6Y 170 -730 1040 72
4HB 650 H67 = 86
60 8.6  380-480A  660-720Y  17.3A/10.0Y 200 -700 1040 76

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENMERRERRAA

4HB Double/Multi-Stage Selection diagram 50/60Hz
4HB #imf1 =4 R 51 50/60Hz EB![E 3k 3AC

Th
Sy

Vacuum Selection diagram 50Hz—- H 2 ®I[E % 50Hz

Suction Capacity A ( m'/h ) ——w

Vacuum Selection diagram 60Hz-- EH %28 [E 3 60Hz

Suction Capacity BAE(m’/h ) ——

THEA MM EREMHR 15CER, HRESN 1013mbar (TR TRIHA, £ZE +10%, BRAZSRMEBREREREIB 25CH,
BirER| B R e E,

The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Compressor Celetion Diagram 50Hz-- & i# 2! [E 3% 50Hz

200 11T T T T T T T T T T T 200
m¥h m'h
150 +————F—————— | oag e | =880 | L L L] A A 150

\

%// ’ 22 7

'--..04
0o L | PO Pl | | . L1 %3? L] 0

800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar

<~ \/acuum( A% ) Total pressure difference A p/ BEZEA p  Pressure( &) ) we—t-

Compressor Celetion Diagram 60Hz-- B4 i€ &I [E] % 60Hz

200 200
m/h mh
150 150
100 100
50 50
o | , | L [ [Terroas| | [ 4
800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar

e \/acuum( A% ) Total pressure difference A p/ BEZA p Pressure( [k /) ) -

72



TAIZHOU REXCHIP MECHANICAL

REXCHIP 55

AND ELECTRICAL CO., LTD.
ENMERRERRAA

el

4HB Diemenslons for side channel blower 4HB210., 4HB310., 4HB410., 4HB510., 4HB610.(mm)
{813 ;& A ¥ R ~F 4HB210., 4HB310., 4HB410., 4HB510., 4HB610.(mm)

4HB Diemensions for side channel blower 4HB220., 4HB320., 4HB420., 4HB520., 4HB620., 4HB650.(mm)
{813 ;& AL ¥ R < 4HB220., 4HB320., 4HB420., 4HB520., 4HB620., 4HB650.(mm)

610 620
A
A
G
| 2 W1
B1 I [ \ a4
.I YXZ @ w| — 1i
u V_gé— v \_JL- —.@-
83
P M = L _| | =
P ﬁ ST - B1 B : 1 L
- b4 (=] Q O . A
3 c — L —-2x — - —r 1_1: /_‘R | “
j —
2 ) 4 6 - | | f = m—! |
*R = =
s2 H Ti v | ok |
o] = D 1 1
s1 M
[ - : ]
T =
T ——-]———‘" K
D M Type Phases
£ Bg # A B B C, D E F H H J K M|N O[P Q ¢rR S S |8 T T, U Vv v, W
4HB220H26 | 3~ | 313 326 359 43 260 208 469 167 272 111 105 426 241 123 Giwa 64 14 4 140 31 105 107 M6x17 M25x1.5 = Mi6x15 = 32
4HB220HS56 | 3- | 313 326 359 43 260 208 525 167 272 128 105 426 | 241 123 Giwa 64 14 4 140 31 105 107 M6x17 M25x1.5 = Mi6x15 32
Type  Phases 4HB220H75 | 3~ | 313 326 359 43 260 208 525 167 272 128 105 426 | 241 123 Gi4 64 14 4 140 31 105 107 M6x17 M25x1.5 = Mi6x15 = 32
Y # |A|B|B|c|D|[E|F|[G|[H|[J K|M|[N|[O|P|Q|¢R|S |5 |S|T T|U V.oV, W eX YxZ 4HB320H46 | 3~ | 331 345 380 47 200 325 490 177 291 120 105 431 243 130 Gi4 64 14 4 140 31 114 116 M6x17 M25x1.5 = Mi6x15 = 32
4HB210-H16 = 3~ 204 319 39 87 | 260 208 203 129 167 111 105 252 65 124 Giv4| 64 14 4 140 31 105 107 Mex17 M25xi.5 Mi6x15 32 153 M6xi5 4HB320HS6 | 3~ | 331 345 380 47 200 825 521 177 201 128 105 431 | 243 130 G4 64 14 4 140 31 114 116 M6x17 M25x1.5 = Mi6x15 | 82
4HB210-A01 i~ 294 319 39 87 260 298 293 129 167 111 105 252 65 124 Giv4 64 | 14 4 140 31 105 107 Méx17| M25x1.5 =~ Mi6x1.5 32 153 | Méxi5 4HB320 H75 3~ 831 345 380 47 200 825 521 177 201 128 105 431 | 243 130 Giw 64 14 4 140 31 125 127 M6x17 M25x1.5 | Mi6x15 | 32
4HB310-H26 = 3- 313 339 39 94 200 325 295 153 177 120 105 256 67 130 Glue 64 | 14 4 140 31 114 116 M6x17| M25x1.5 Mi6x15 32 153 | M6xI5 AEaie | (S ai Al TR A 0 o I N0  Ie ] 190 [0 T A O] e | e | E LD DL [T ST RO Bl (WIS ]
4HB310-A11 1~ 313 330 39 94 | 200 325 205 153 177 120 105 256 67 130 Giv4| 64 14 4 140 31 114 116 M6x17 M25xi.5 Mi6x15 32 153 M6xi5 ARG RER | 8 | T A0G | B LT [N | O N | 00| A0 | IER | 1% LY RIS LS N ] L [0 TR | AT |I9SN NS | MG |
- : S ST T T T ST : ST - 4HB520 H77 7 402 435 57 148 152 453 | 256 148  Gi14 14 140 31 137 | 138 M6xi7 2xM32c1.5  Mi6xi.
4HB410-H16 3~ 346 375 38 103 | 315 350 321 153 195 120 130 260 66 143 Givs| 64 | 14 4 140 31 125 127 M6x17| M25xi.5 Mi6x15 32 167  M6xi5 S | 887 14021455 | 57 | 3281365 | 603 | 206 | 345 | 148 | 152 | 455 | 266 | 148 |GIwt| ©4 | S | 140 | 31 | 157 | 138 |MBxI7) 2xM32x1.5 | WM6x1S | 2 |
| Bl bl Bl Bkl Bl Bl Bl Bl il Sl Bkl Bl Bl | Bl | 4HB620H36 | 3~ | 442 457 495 63 372 406 578 | 236 389 128 152 458 | 259 173 Git4 64 14 5 | 140 31 153 155 M6x17 M25x15 | MI6x15 | 42
4HB410-A01 1~ 346 375 38 103 815 | 350 321 153 195 120 130 260 66 143 Givs 64 | 14 4 140 31 125 127 M6x17| M25x15 Mi6x15 32 167 | M6x15
. | ol ool il B ol Il il Il Bl sl Ml | = =) e | Bl | 4HB620H57 | 3~ | 442 457 495 63 372 406 643 236 380 148 152 458 259 173 |Glws 64 14 5 140 31 153 | 155 M6x17 2xM32x15 = M16x15
4HB510-H16  3- 368 305 39 114 828 363 361 185 205 128 152 265 68 148 Giva 64 | 14 5 140 31 137 138 M6x17| M25x1.5 Mi6x15 82 192 | M8xi5 : e e B Lo e - : :
4HBS10-H26 3~ 368 305 39 114 828 363 361 185 205 128 152 265 68 148 Gi4 64 14 5 140 31 137 138 M6x17| M25x1.5 Mi6x15 82 192 | M8xi5 Type P
4HB610-H16 = 3~ 418 455 39 127 371 | 406 364 185 235 128 152 271 72 172 Giws 64 14 5 | 140 31 153 155 M6x17| M25x1.5 = M16x1.5 32 228 | M8x15 #IgE B|E A | B | B ‘ e | D E ‘ E | G | H | Hi K M | N ‘ o | P Q | ¢H| s, | s, T U | v |w| W,
4HB610-H36 3~ 418 455 39 127 871 | 406 390 211 235 128 152 271 72 172 Giva 64 | 14 5 140 31 153 155 M6x17| M25x1.5 Mi6x15 82 228 | M8xi5 4HB650H67 | 3~ | 442 402 492 63 371 406 717 274 236 | 389 152 | 539 336 172 Gim 64 14 5 146 | 153 Mex17 M32x1.5 42 120

74



Wi HRR

ACCESSORIES DISPLAY

75

BHIBIER

Transparent air filter

5 5B iEE

Iron simple air filter

B S

Iron air filter

Aluminium relief valve

BREER

Plastic relief valve

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.
ENERBMERRAA

BRI 5 iR

Plastic simple air filter

RSN EHE R

Stainless steel silencer

(3%

76



REXCHIP 55

FHERAL (2. 000mmaq ) £ 4569 W&,
SR it R LA IR

VAR EZASNE AR, ik
@R, FiESTFAFFHRALE

BHARF RA Y ik

A E AR RS A AR T
BHFRMSLE

HRiid

VAR R A Bl Ay i AR BB A A

A7 ——

=
E AR B IRE EAZAR

B A RFRLE Bk

e i i

HArb g, RORAAED, HFIen Ak
MR, Abdtiig, HRHH

AR AR R A, VAR AR T R

AR T A B A RALR R A
Kk Aadedh

AT, BHHH

AHE

B
LT

IR

NU# N

B — 3P
K B AR

HE AT R T K

Feh Bl o EAF

R Ep &tk R

nPPLICATION EXAMPLE USE FOR BLOWING

TAIZHOU REXCHIP MECHANICAL

AND ELECTRICAL CO., LTD.

EMEREERRAE

e Blow hoover exhaust cool transport air cushion

air pump

\ high-pressre air

fule

The adequate ventilation from hi%h
pressure air (2.000mmagq) will reduce the
dissipation of compressor .

san-dusk
or rice husk

AT T S
i
5

dischanging holes

High pressure air is blown into the
storage tank, increased the contact area.
It also suitable for polluted wasted water

compress air

Powder conveying through a pipe line
has been one of the major uses for air
pump

dries up the water
droplet after drops
oif water

Drying up the water drops on the
beverage bottle. Fit for Food industry.

-8 3

madicine
cashier office

air pump
i

A .

o=
! LI

It" s more accurate and fast to
convey document by air pump force

air

wind _|

air pump
knife o

= =

These blowers deliver higher pressure
compared to centrifugal blower, making
it possible to improve fuel to air mixing,
leading to very effective fuel burning.

Colth piece blow

cut kniferol| and
transfer

g air pump

Automatic collection of plastic/cloth/
paper cutting edge.

Stirring the electrolyte and disperse the
water bubble, that make electroplate
rapidly and even

air pumg air pump
i
ni c\
g\\ N

Disperse the smoke rapidly to reduce
pollution

The circuit base

palte of dust
drop of watert\\

circunit board

The air pump can be used to blow dust
and debris on circuit board

air pump

oxyge —

i
= = B

water in the pool
Supply air to one or several tanks in
order to bring oxygen to bacteria which
must degrade the organic matter.

Drying up the car rapidly after washing

Increasing the buoyancy force to
make it move easily

air pump
molding product

A

NN |

convenient te is it press
product of talking shape
after to take out.

It’ s convenient to take out the
stamping under the pressure air

help.

Air pump is widely used on ink

dryingt

78



TAIZHOU REXCHIP MECHANICAL

EMEREERRAE

REXCHIP 55 | AND ELECTRICAL CO., LTD.

TEERZE (RE ) nPPLICATION EXAMPLE USE FOR VACUUM

o X[ IRFE HES 440 X | e Blow hoover exhaust cool transport air cushion

e o P B p— B s L I s L}
\ £ R N
S\

- filter of waste gas \\ \\ :;«:::db:;'l-: ) tube
%’\& J% -
SN 'IA == |
) {

alr:pump filter case

A A i
blast pipe

The smoke and dust generated during

FaEn FAE RS AL, TUAZFX FRLER A RBRE, B2 T, & BEAEAFERGER, HARIAR welding can be discharged to other
| , BAAH B EE ALk, EN. 3 e ’ : . The powerful sorption produced by air | 5306 i vacuum mode to ensure the = Keep threads and yarn in place = The vacuum suction force will protect film, = Powder conveying by blowing or
FIR RS B, vAF|P R HRE AL, IR R R KK, RE B HF A RAE LT L bt pump can fix printing Eperam,- s health du,-mpg processing. X 4 make it flat. sucking air
- air Pump i gyro wheel
= pump : cut knife Support bar
0= grrovheel % g a0

;‘Fﬁﬂﬂfzﬁﬂ f air and water
Ifﬁ‘#’ﬁ&/ﬁ&ﬁ&%él -‘;J-P‘)-ﬂ suck cyl inder segregate the air
’ j o ; R left loth and thread
ELTEE S HBEA, B, AR it i 2 4 A E R A by 2L 32 Move Paper through the printing process. ?gf:&n%uﬂaﬂ?ng;bﬂs remaining on Eﬂecwksllitqeuri Jmt;ﬂué{:}n water,cloths, | gy 1he inner page when the book was cutting afieer?givrﬁmieng?ver it L
R air pump air pump e B
oil pressure device aill pressure device
~ o
C R
f (4 k2 — cloth .
AHE air R
A vapour
il 5 TFAY, FANL, F m Remove powders, dust and gases from S - l\j
_ o e N S . Suck the soybean and delivery to the | Fix the wood, plastic and other non- | tunnels, clean rooms or other enclosed
‘#‘?L ﬁgi-iui—ﬁ-i"&g] *'Uﬂ ﬂgl ki-ﬁh-%., i/ﬁ‘%ﬁ%f?‘fiﬂ *ﬁ" ﬁ&% apﬁ'ﬁ#}ﬁs’z—m R] 'i'ﬁ-l”i.z-ﬁ% F%% ﬁﬂ?ﬁ%ﬁ%ﬁkﬂ&: Botiling the milk carton by vaclum clganing tank magneﬁc items spaces Discharge the stem when ironing




. - TAIZHOU REXCHIP MECHANICAL
REXCHIP His2 I l tim AND ELECTRICAL CO., LTD.

j ENBRMEERAR

.EE] 3 v [=1=] 'EE]'H als, M 0 oo
=EEE, X, EEESERESRE |§ |§ E |§ |§ E % PR S B i R
@ B @ == @ @ F] @ g ‘ i ‘ ) ‘ Fi ‘ L] ‘ﬁfﬁ#‘ Bk Eﬂl&?ﬁﬁ‘ #PsRAE ‘Eiﬁﬂcﬁ@‘lﬁkm‘ TS
BB
5 @ 3 z = . 2
EM. JEM. M R B kg/om® mpa bar kpa mbar psi mmh,0 mmhg inhg airm at TA%TR ( nm?)
ib/in mmagq torr pa
BT BT =HEE HAX BATE PHEEE _ H% (4 $ATE FATE —#EF & : | | | | | | | | | |
= v H kg/em 1 0098066 0.980665 98.067 980.67 14223 10000 735559  28.964 0.96784 1 98066.5
HE (BE) mam @ (V)| (v) (H) BE(BE) Teg T(y) SHEBVER(H2) W)™ Tam (V) (V) (Hz) ole | | | | | | | | |
- _ : mpa 10.1972 1 10 1000 10000 14504 101971  7500.61 295354  9.8692 10 9999771
%[ A 120 | 240/480 60 ADE 1100200 200/220/380 60  HH c 240 415480 50 ‘ | | |
4ot S B T SO TR T . bar 1.01972 0.1 1 100 1000 = 145038 = 10197.2  750.061 295354 = 0098692 = 1.01972 100000
S, W A 120 | 240/480 60 ~ DF 200  220/346/380 50  &H D 127/220 380 | 50
mgEx A | 120 |240/480 | 60 GEDEGINS <N NN N DI TR0 kpa 0.0102 0.001 0.01 1 10 0.145 101.97  7.50062 02954  0.009869  0.01 1000.25
BEF A 127 | 220 60 A 110 220380 60  WAE D 127220 380 50 | | | | |
i _ 127 | 220/380 60 ACE 277  220/400 60 ri& D 120220 380 50 mbar 0.00102 0.0001 0.001 0.1 1 0.0145 10.2 0.75 0.029543  0.000987 0.001 100.025
7 | 220 | 380 50 ob 20 380 | 50 @ D 220 380 50 | | |
il L7 | 110 | 220 | €0 HCDRR 0 BRIRANCE 152D NNV it D 220 | 380 | %0 psi(ib/in?) 00703 0006895 006895 = 6.895 = 68.95 1 70307 51715 = 203537 006805 007031 = 6894.76
AHTERM - 120 240 60 _ 220 380 . 50  BipF D 220 380 50 _ _ _ _ _ _
by |
ZEM | 110 | 220 | 60 [ R IS . B G mmh,o(mmag)  0.0001  0.0000098 0.000098  0.0098 = 0.008 = 0.00142 1 0.07358 000289  0.000096  0.0001 9.806
W | 110 | 220 60 @B | 220 380 50 | @WF  AD 137220 220380 50 | | | _ | | | |
EREW | | 127 | 220 | €0 IS . AnhF | D Al | G40 | B0 mmhg(torr) 000136  0.000133 0.00133 01333 1.33 00193  13.5051 1 003936 000132 000136  133.32
EE&E 127 | 220/380 50 = BERAEE 240 400/415/440 50 & D 220 380 50 . . . . . . .
HERE | 120 | 240 | 60 I es Lo e 20 B D 220 | 880 | S0 inhg 003452 00034 0034 3385 3385  0.491 346.02 254065 1 00334 03452 338576
FiRE 20 | 380 50 120 208220380 50 s D 220 380 50
ENMWL | 120 | 240 | 60 I N . e D seit | 80 | B8 atm 1033 01013 101325 101327 1013.17 14695 1041666 760 20.94 1 10333 101325
BE 220 | 380 | 50 | ibusEEA 127 220/380/415 50660 =AM D 220 380 | 50
ik | | 220 | 380 | 50 I B S N EN | D | 20 | %0 | 50 at 1 04 09806 100 1000 14222 10000 73529 28969 0.9676 1 98066.5
REFE 220 380 50 ER _ 127 200880 | 50 | +EE . 110 220880 50 | | | | | | | | |
§§¥§~ | E .zx zg :g - | I 2N | AD | 127220 | 380 | 60 (n/m?pa 000001 0000001 0.00001 0001 001 0000145 = 010197 00075 0000295 00001 0.00001 1

81 82



	瑞今20232
	瑞今20234
	瑞今20235
	瑞今20236
	瑞今20237
	瑞今20238
	瑞今20239
	瑞今202310
	瑞今202311
	瑞今202312
	瑞今202313
	瑞今202314
	瑞今202315
	瑞今202316
	瑞今202317
	瑞今202318
	瑞今202319
	瑞今202320
	瑞今202321
	瑞今202322
	瑞今202323
	瑞今202324
	瑞今202325
	瑞今202326
	瑞今202327
	瑞今202328
	瑞今202329
	瑞今202330
	瑞今202331
	瑞今202332
	瑞今202333
	瑞今202334
	瑞今202335
	瑞今202336
	瑞今202337
	瑞今202338
	瑞今202339
	瑞今202340
	瑞今202341
	瑞今202342
	瑞今202343
	瑞今202344
	瑞今202345
	瑞今202346
	瑞今202347
	瑞今202348

